Thanks to browse ....... Welcome to FORWARD

FORWARD Machinery Co., Ld.

Pneumatic Component
Hydraulic Component

3 YongHe Road,Industry Zone XiKou,FengHua,Zheliang,China 315502

Telephone +86 574 8856 6988
+86 574 8884 8789
Fax +86 574 8856 6899
E-mail sales@forwardmachinery.com

TR ZFREIMAERAAF
SHTH
ETTH

hE T FH ZOETVEXKFE3S 315502

Mg +86 574 8856 6988
+86 574 8884 8789
(=1 +86 574 8856 6899

E-mail sales@forwardmachinery.com



Product Content 7~z H 7

Company instructions 2\ 8] 9T 28

‘Pneumatic component,

Airpreparation S iRAMIEIEEF

Oou

ORB
Accessories 4

Solenoid valve FZ=#l JTT44
FVSC

3L4L
4F210,FV
4HV

FMV

GR

Cylinder #1147 JT1F
ODNC/1506431

SuU

DSNU/1SO06432
MAL

SDA

Fittings £k

'Hydraulic component

Boosting cylinder 18 [E&T
HPN,HPNS

Booster pump BER
FHBA
FHBD

Hydraulic cylinder SHEL
MOB,HOB

11
15
19
23
27

29
37
45
47
49
51
55
57
59

61
67
71
75
83

91

99

105
107

FORWARD

Company infroductions 2 &] & 71

Pneumatic component

In FORWARD,Driving force has always been
our vision and prospect: We own the courage
to challenge mediocrity to create surprising
products.Depend on our great perseverance
,we promote the development of Chinese
fluid industry.

Welcome to FORWARD!

7EFORWARD, HHH#zhh—EERIN
Bs:. BMNEERETENESR, URES
NEEHFE R, RENER. FARBEM
KAMF RIS, FHhFiEhHERET I
EHELRE,

FORWARD X4 |

1-2 Company introductions



= B4+ Filter,Regulator,Lubricator / OU

Type codes

SR

FORWARD

0U BV =34i—0FR BUIIRBE A —OLE mE SR A R, XL L
DRRTH, HAITERFELRE PR ARKELR, W TN
BHE, SumESESEHA0 0 mETRER T,
BIEMAENERRESBRTERGE ), BUERBERIELREENTE
EHEERTE.

SRER TS ENIEE SRR, HBEESTREMIELS, F
TMESIH, TEATEITRT AR, BEELI000LEZSHEEL-12
ERLES T o

The OU consisted of OFR and OL,each unit can be ordered separately.

The OF with water separator cleans the compressed air of fluid
oil,condensation and dirt particles.For special application,the standard 40u
m filter element may easily be replaced by a 5um filter element.

The OR maintain imputting constant operating pressure despite fluctuation
in line pressure and the amount of air consumed.

The proportional lubricator adds a regulated quantity of oil to the filtered
air.The oil-mist content proportional to the flow and oil can be added during
operation.The oil drip rate is controlled by the adjustable bolt.Normally,1to
12 drops /1000L of the air is sufficient.

| ou |-| 1/4 |-

-| MINI

1/8 G1/8
1/4 G1/4
3/8 G3/8
1/2 G1/2
3/4 G3/4

£ A1 SE @ Pressure regulation range

0.5...12bar
7 0.5...7bar
%% Grade of Filtration
40um
5M Sum

= /13 Pressure gauge

5 & 13k With pressure gauge

TEE S15% Without pressure gauge

MINI INEY
MIDI kil
MAXI KA

HE7k @ Condensate drain

F & Turned manually

* B3 Semi—automatic

B3/ Fully automatic

= B4+ Filter,Regulator,Lubricator / OU

HARS¥ Technical data

FORWARD

FE#H KRS General technical data

& Size

MINI | MIDI | MAXI

TR Medium

[E48%S Compressed air

£EMHE 5 Features of structure

BN BERERLERILIEE, MINUMIDL: EAZURER; MAXT. JEEARER;
SHBAAHTEDRR

Sintered filter with water separator; MINI/MIDI. Diaphragm type regulator;
MAXI. Piston regulator; Direct constant—density lubricator

L3773 Mounting type

BRI ILELEE Pipe mounting or foot mounting

LHERE Assembly position

FEHME+5° Vertical £5°

&3 R~F Connection G1/8 G1/4 G3/8 G3/8 G1/2 G3/4 G3/4 Gl
ETERE OFR—... (—A) 700 1000 1200 2000 2600 2600 7000 8000
Standard nominal flow rate

OFR—...—7— (—A) 800 1300 1500 2500 2800 2800 8500 8700

OFR—...—5M— (—A) 600 850 1050 1700 1800 2100 6500 7200
BNES Primary pressure | FahHEKiE 1~16bar

Manual

condensate drain

B EHEK IR 1.5~12bar

Automatic

condensate drain

T £ /1 Working pressure

0.5~12bar / 0.5~7bar

/NEERE Min. Standard nominal flow rate 3 min | 6 1/min | 10 Vmin
13K E Grade of filtration 40um/ 5um

& KEE A& Capacity of condensate fluid 22m1 | 43m1 | 80m1
JRIESEEl Temperature range 0~60C

%l Materials information

FolR: RS, SIEMAER: PC, EBRIE. BEd; BE: THEBK, B
EF%. POM

Housing: Zinc die—casting; Filter bowl and oil bowl:. PC;

Metal bowl guard: Aluminium alloy; Sealing: NBR; Adjusting knob: POM

Pneumatic component 3-4 Air preparations




=B%4%* Filter,Regulator,Lubricator / OU FORWARD =BX{¥ Filter,Regulator,Lubricator / OU FORWARD

HARSH Technical data HARZSE Technical data

Dimensions o . M B4 Inner structure
E2 ES
F2 E3 E3

E4

|
’ i \ =3 Bleddar scre
HH | @imEE| 011 pdjust screw
| H TRST
TR OHCmZE s

H3

OHC bracket

By NI %T =
‘ | =
—

F6

E3
H5
L
¥
2 4
)
f
\
\
\
\
L1
L2

i T |
[ e —

- o T

H1
)

H2

SRRPE
N Metal bowl guard M M
o \ FAMAS
T Manually condensate drain
| |
#Z Model E1 E2 E3 [E4 [E5 |E6 E7 |F1 F2 F3@ | F4 |F5@ [F6@ |L1 |L2 | L3 |H1 [H2 |H3 [H4 |H5 H6
F5S NO. AR Item ##} Material F5 NO. | &R Item ##} Material
0U—...—MINI 104 92 40 (39 (76 |95 2 |G1/8,G1/4,G3/8 | M36*1.5 |31 (M4 [4.5 |40 |44 |35[11(194(169]69 [17.5]20 15
1 SEB-IN Flange - IN &% Zinc alloy 5 7 %2 Bracket SPCC
0U-...—MIDI 140 125 55 (4793 112 (3 |GL1/8,G1/2,G3/4 | M52*1.5 [50 | M5 |5.5 [52 |71 |60 |22 |250 |206 |97 |24.5 (32 15
2 iTEREMR  Filter + Regulator 6 R FI22 Allen screw S35C
0U—...—MAXI 162,182 [ 146,157 [ 66 |53 [104 | 124 |3 |G3/4,G1 M36*1.5 |31 | M5 [5.5 [63 |71 |60 |22 |252 |223 180 |24.5(32,40]15
3 MZEES Lubricator 7 FE/1% Pressure guage
ESE R EqnFIiRE E Hp2# £ & Standard flow rate gn as a function of the output pressure p2 4 4S#H-OUT Flange - OUT $#4&% Zinc alloy
OU-1/4-MINI OU-1/2-MIDI
‘10 ‘10
9 9
8 8
7
\ 7
x . 7 0
2 5 . g < —
Ql : \
N\ al 4 \ \
3 3 — \
2 2
1 1
N
0 500 1000 1500 2000 o oo 2000 3000 4000 <°°° 6000
gn [I/min] qn [I/min]
OU-1-MAXI
10
9
8
7
—| 6
25
A
3
2
1 \
12000

o 8000
qn [I/min]

*Hi NJE /1 Primary pressure: p1=10 bar Pneumatic component 5-6 Air preparations




i % [ ) Filter regulator / OFR FORWARD i %R [E 8 Filter regulator / OFR FORWARD

FERAS Type codes HARSH Technical data

FEH#H RE# General technical data

Size MINI | MIDI | MAXI
" T £ Medium 48285 Compressed air
=K S5 Features of structure KA B ABARER TR, MINUMIDL: EAUFER, MAX: SEERER
Sintered filter with water separator; MINI/MIDIL: Diaphragm type regulator;
%ﬁ;ﬁ%ﬂﬁ%}@éﬁfﬁz/\\iﬁﬁﬂﬁﬁ, ;%iﬁb§%?ﬁ&g&m BT 2 MAXI: Piston regulator
B, WTERNBHE, Spm BHE 40 w MESFRAE TR RN . T S . .
BVERNGE ) SRR B E RGOS, AR RIS RN T R#I7R Mounting type B LA RS Pipe mounting or foot mounting
ENFRIBE, RERIE Assembly position FEEHFME+£5° Vertical+5°
Filter and pressure regulator combine a single unit ,and cleans the . \ )
compressed air of fluid oil,condensation and dirt particles.For special JERERAS Connection G1/8 G1/4 G/8 G3/8 Gl/2 G4 G374 Gl
application,the standard 40um filter element may easily be replaced by a 5 AR OFR—... (-A) 750 1400 1600 3100 3400 2400 9000 10000
Hm filter elgme.nt.. . . i . Standard nominal flow rate
The OR maintain imputting constant operating pressure despite fluctuation OFR—..~7— (=A) 900 1500 1700 3400 3900 2000 9500 16000
in line pressure and the amount of air consumed.
OFR—...=5M— ( —A) 650 1200 1350 2400 2500 2600 7300 7600
I
[Il H 1 \JE ] Primary pressure EHEKIE 1~16bar
it Manua
i 1
i} condensate drain
b & SHEA R 1.5~12bar
— Automatic
condensate drain
T £ Working pressure 0.5~12bar / 0.5~7bar
| OFR |-| 1/4 |-| - - -| MINI|- |
1T JEREE Grade of filtration A0pm / 5pm
A EAE Max.condensate capacity 22m1 43m1 80m1
& 3hAE Basic function JBESEEl Temperature range 0~60%C
OFR | MR Filter regulator #P8 Materials information K ESS. 06 RERE, SRAPE. @RS, 6. THRAK B
g i EF% . POM
e Housing: Zinc die—casting; Filter bowl. PC;
1/8 G1/8 Metal bowl guard: Aluminium alloy; Sealing: NBR; Adjusting knob: POM
1/4 G1/4
3/8 G3/8
1/2 G1/2
3/4 G3/4
1 G1

& 1A% SE Bl Pressure regulation range

0.5...12bar
7 0.5...7bar
idiB% & Grade of Filtration
40um
5M S5um
£ /13 Pressure gauge
& 713 With pressure gauge
0 TH £ H1 % Without pressure gauge
MINI INEY
MIDI [2oi1)
MAXI KA
HEK @ Condensate drain

F5) Turned manually

* B3 Semi—automatic

>

B3/ Fully automatic

Pneumatic componenf 7-8  Air preparations



it i® R E | Filter regulator / OFR

FHARZSH Technical data

F3 E4

H OHCRL % %e 320
[ OHC bracket

E3
HS

A_ﬁ*

H1

ERRIAE

|
|
|
|
|
|
H } Metal bowl guard

|
|
|
|

FRIKHE

Manually condensate drain

1-H6__,

#1S Model E3 | E4 |E5 E6 E8 E9 F1 F2 F3@ [F4 [F5@ [ F6@ | L1 [ L2 |L3 [HL [H3 [H4 |H5 H6
OFR—...—MINI 40 [ 39 |76 95 64 52 G1/8,G1/4,G3/8 |M36*1.5 |31 (M4 |45 [40 [44|35|11|194]69 [17.5(20 15
OFR—...—MIDI 55 | 47 |93 112 |85 70 G1/8,G1/2,G3/4 |M52*1.5 |50 [M5 |55 [52 |71 )60 |22 |250 |98 [24.5 |32 15
OFR—...—MAXI 66 [ 53 | 104 | 124 [9.,116 | 80,91 [G3/4,G1 M36*1.5 [31 |M5 |5.5 |63 |71 |60 |22 [252 |80 [24.5(32,40(15
OFR-1/4-MINI OFR-1/2-MIDI
10 10
9 9
8 8
7 7 E——
—
§ 6 \ 6
=2, — | = —
S Zs ~
4 N4
3 N 3 N
2 2
1 I ) ™
500 1000 1500 2000 0 1000 2000 3000 4000  S000
qn [I/min] qn [I/min]
OFR-1-MAXI
10
9
8
7
=6
9]
2.5
el
3
2
1
0 00 12000

0 80
an [I/min]

EINJIEA p1=10 bar

it i® A E I Filter regulator / OFR

HARSH Technical data

1
2
3
3 20
5 21
6 22
';', 23
8 I
9
10 {
11
12
13 29 i
14 30 |
31 | U
32 |
15 33 F T
16 34 |
17 |
18 | -
19
F&NO. | &% ltem 4% Material FS NO. | &% Item ##} Material
1 i EF % Pressure knob POM 21 OR#Jr Sheet NBR
2 @2 Regulator cap POM 22 R EE Overflow base 6061-T6
3 FAEAFIZE Regulator nut S35C 23 & A #£2 One part of diaphragm SPCC
4 i E424F Adjusting spindle S35C 24 f& K Diaphragm NBR+B % M
5 3% Pressure spring SwcC 25 O#IE O-ring NBR
6 RAEFFIR Fixed ring 6061-T6 26 ORJ&f& OR Body 4% Zinc alloy
7 & K44 B One part of membrane PA6+G15 27 £3% Plug POM
8 OZ#U[E O-ring NBR 28 O#IE O-ring NBR
9 SEHR-IN Flange - IN &% Zinc alloy 29 4S-0OUT Flange - OUT $#A¢& Zinc alloy
10 7% Spool #1f Brass 30 R fiE22 Allen screw S35C
11 ORI O-ring NBR 31 OZYE O-ring NBR
12 HERUAHEE Whirl wind impeller POM 32 S I3#% Spring SWPB
13 FE Filter element BZ PE 33 4T Fasteners #1f Brass
14 7K Manger POM 34 JEISEE Filter element base POM
15 R = Metal bowl guard $8A € Aluminium alloy
16 JK#F Filter bow! PC
17 OZ[E O-ring NBR
18 Ak Inner joint POM
19 77k #& Condensate drain POM
20 MR F Wearing sheet ZBEXELHR Insulation sheet

9-10  Air preparations



%= Regulator / OR

Type codes

BERT

B &Ik Basic function

OR

FORWARD

RIEMAE N EERT=SIBFTER GRS, BERbBERIIERENTHE
ENIFFRE.

The OR maintain imputting constant operating pressure despite fluctuation
in line pressure and the amount of air consumed.

%= Regulator / OR

HARS¥ Technical data

FORWARD

FEH A SH General technical data

Mi& Size

MINI | miDi | maxi

TR Medium

WREHZES (BB FRIDE ) Filtered,compressed air (lubricated or unlubricated)

=M S Features of structure

MINI/MIDI. f&F-=0R0E M@ Diaphragm type regulator;
MAXI: JEZEIUFEE Piston regulator

Z#73 Mounting type

TR, IRLEGERNZE Pipe / Foot / Plate mounting
A

LREAFIE Assembly position 1F3= Any
&3 R~F Connection G1/8 G1/4 G3/8 G3/8 G1/2 G3/4 G3/4 Gl
RETERE OR-... 800 1500 1700 3200 3500 3500 11000 11500
Standard nominal flow rate

OR—...—7— 1000 1600 1800 3300 4000 4500 12000 12500
#I\JE S Primary pressure 1~16bar

T1EE S Working pressure

0.5~12bar / 0.5~7bar

B ESEE Temperature range

0~60C

##l Materials information

FUK. R, BE. TR, BAEFR: POM
Housing: Zinc die—casting; Sealing: NBR; Adjusting knob: POM

MINI

1/4 |- -

|

HE R Regulator

1/8 G1/8
1/4 G1/4
3/8 G3/8
1/2 G1/2
3/4 G3/4
1 G1

& /1iA iS5 @l Pressure regulation range

0.5...12bar

7 0.5...7bar

3 %4k Grade of Filtration
40um

5M 5um

FE /1R Pressure gauge

& 513 With pressure gauge

RS E S5k Without pressure gauge

Pneumatic componen'r 11-12  Air preparations



7 [E @ Regulator / OR FORWARD W E i@ Regulator / OR FORWARD

HARSE Technical data HARZSE Technical data

Dimensions A EBLHAME Inner structure

E8

E9 E6

E3 ES

F2 E3

E4

| ‘ |
| M
(il —
. OHCARYZ2 33 22 LJ ‘ h - OHORVZ2esi4e T
T OHC bracket ! « OHO bracket e
T
o ] NJMHHMH I ?
c1
112 - | | =
b
g g = ——H-e
F1
S Model E3 | E4 |ES E6 | E8 E9 F1 F2 F3@ [F4 |F5@ |F6@ | L1 [L2 |L3 L4 H3 H4 H7
OR—...—MINI 40 139 |76 95 | 64 52 G1/8,G1/4,G3/8 | M36*1.5 |31 |M4 |45 |40 |44 |35 |11 Max.3 | 69 175 | 9%
OR~...~MIDI 55 |47 |93 |112]85 70 | G1/8G1/263/4 | M52*1.5 50 [M5 |55 |52 |71 |60 |22 | Maxs |98 |245 | 9% g=no. | &% tem 4 Material FENO. | &% Item ##4 Material
OR—...~MAXT 66 |53 104 | 124 | 9,116 | 80,91 |G3/4,61 M36+1.5 |31 M5 [55 |63 |71 |60 |22 | Max4 |80 |245 | 9% 1 IET# Pressure knob POM 16 OR# A Sheet NEBR
2 @3 Regulator cap POM 17 R MEE Overflow base 6061-T6
3 FIFENRIEIE Regulator nut S35C 18 & F#E#2 One part of diaphragm SPCC
RESE R Eqnlii HE A p2f £ & Standard flow rate gn as a function of the output pressure p2 1 AERFF Adjusting spindle 3350 19 B Diaphragm NBRELM
OR-1/4-MINI OR-1/2-MIDI
5 3% Pressure spring SWC 20 OZ[E O-ring NBR
0 10 6 JRTEFENE Fixed ring 6061-T6 21 ORI@fk OR Body 4% Zinc alloy
9 9
s . 7 5 K44 One part of membrane NBR 22 #3% Plug POM
7 ] 7 — ] 8 OZ![E O-ring NBR 23 O O-ring NBR
6
E 5 § : I — 9 SAS-IN Flange - IN #A % Zinc alloy 24 4S$-OUT Flange - OUT &% Zinc alloy
=) S|s
-1 A N 10 @itk Spool %4 Brass 25 MARIE2 Allen screw S35C
z 3 ~ 11 OZE O-ring NBR 26 43835 Spring SWPB
—~ 2
1 — | , 12 OZY[E O-ring NBR
13 #0$T Fasteners #1f Brass
0 500 1000 1500 2000 0 1000 2000 3000 4000 5000 6000 7000
qn [/min] qn [I/min] 14 %2 Locker cover &% Zinc alloy
15 M EEH F Wearing sheet LR Insulation sheet
OR-1-MAXI
10
9
8
7
_|e
Zls
A 4
3
2
1
0 4000 8000 12000
qn [I/min]

* & NJE 71 Primary pressure: p1=10 bar

Pneumatic componenf 13-14  Air preparations



i3 iE#S Filter / OF

BISRAES Type codes

FORWARD

DAL TR E SR HRAIH. AEKE LR, TR A
a, SpmEBEZEHI w nEARETE .

The OF with water separator cleans the compressed air of fluid
oil,condensation and dirt particles,for special application,the
standard 40w m filter element may easily be replaced by a 5pum

12 iE#S Filter / OF

HARSH Technical data

FEH RS Y General technical data

| MAXI

Hi& Size

MINI | MIDI

FORWARD

TR Medium

E48ZS Compressed air

=¥ s Features of structure

RN BERARLERLIRE Sintered filter with water separator

Z 7 Mounting type

BRI FT L% Pipe mounting or foot mounting

filter element. . - R .
RIALE Assembly position FHJIE £5° Vertical+5°
%3 R~F Connection G1/8 G1/4 G3/8 G3/8 G1/2 G3/4 G3/4 G1
. ERERE OF—... (—-A) 1000 1200 1400 2700 3000 3000 5000 5300
LT Standard nominal flow rate
[ I I OF—...=5M— (=A) {600 950 1100 1800 1900 1900 3200 3300
HE F A BAL6bar
Ei i Manual Max: 16bar
- # N\JE 1 Primary pressure condensate drain
B EhHEK IR 1.5~12bar
Automatic
condensate drain
i3 B K5 E Grade of filtration 40um/ 5pm
AR EAE Max.condensate capacity 22ml 43m1 80m1
| OF |-| 1/4 |- -| MINI | -
TR ESEE Temperature range 0~60°C
#%} Materials information FoUk: B, DR PC, EBRIE. Bed, B THEBRR
. . Housing: Zinc die—casting; Filter bowl: PC; Metal bowl guard: Aluminium alloy;
& A& Th§E Basic function Sealing: NBR
OF i k=% Filter
&0 Rt Connection
1/8 G1/8
1/4 G1/4
3/8 G3/8
1/2 G1/2
3/4 G3/4
1 G1
i3 i % 4Rk Grade of Filtration
40um
5M S5um
MINI INEY
MIDI ==l
MAXI AE
HEK i@ Condensate drain
F & Turned manually
S * B3 Semi-automatic
A B3/ Fully automatic

Pneumatic componen'r 15-16  Air preparations



i3 &S Filter / OF

FARSH Technical data

E8

E9

OHCELZedex 20
E3 OHC bracket
S
—) I
o e e (L o o
A
I 5
= U U U U
>
= ERRPE ———
A —~ Metal bowl guard —~ —~
© F UK
T Manually condensate drain
A5 Model E3 E4 E7 E8 E9 F1 F4 F50 | L1 L2 L3 H4 H5 H6 H8 H9
OF—...—MINI 40 39 2 64 52 G1/8,G1/4,G3/8 | M4 45 | 44 35 11 17.5 20 15 144 129
OF—...—MIDI 55 47 3 85 70 G1/8,G1/2,G3/4 | M5 5.5 |71 60 22 24.5 32 15 179 156
OF—...—MAXI 66 53 3 96,116 | 80,91 | G3/4,G1 M5 5.5 |71 60 22 24.5 32,40 | 15 203 175
OF-1/4-MINI OF-1/2-MIDI
¥ ] s T ]
14 b
4 10 bar —{ 14290 4 6 bar 10 bar -
— 6 bar 4 bar ;
5, 5 4 bar [ g 5 /
7 [/ 9 /
a2 - |2
S o
< / <
1 1 —
| / 4%/
0 1000 2000 3000 4000 5000 6000 0 1000 2000 30004000 5000 6000 7000 8000
qn [I/min] qn [I/min]
OF-1-MAXI
’ T ] ]
‘ 6 bar 10 bar 14 bar
— 4 bar ;
3 3 / /
)
° 2
<
1
—
0 4000 8000 12000 16000
qn [I/min] o

i1 iE#S Filter / OF

FARSH Technical data

1
2 e
; |
3 v
_5 -\Hx"'\-u_\_\_& |
6 |
7 |
I ! 1 !
8 || N
e |
—_— 13
10 T Co ,
11y | U
2 ' |
FS NO Z TR ltem #1#} Material FS NO. | &%k ltem ##} Material
1 %4z ( E2 ) Ornament cover(round) | POM 11 Pk Inner joint POM
2 OZU[E O-ring NBR 12 77k 2§ Condensate drain POM
3 SEBR-IN Flange - IN #A € Zinc alloy 13 OF [&{& OF Body A4 Zinc alloy
4 JERKEE Filter element base POM 14 4S#k OUT Flange -OUT £ A& Zinc alloy
5 e XU %8 Whirl wind impeller POM 15 OZ#U[E O-ring NBR
6 JE Filter element BZ PE 16 #3% Plug POM
7 47K Manger POM 17 OZUFE O-ring NBR
8 1R 2 Metal bowl guard $8&% Aluminium alloy | 18 R 2% Allen screw S35C
9 JK#F Filter bow! PC
10 OZ![E O-ring NBR

17-18  Air preparations



il 3= 28 Lubricator / OL

BSRAD Type codes

B ZTAEER T HOMEEEESPORE. —MATHRFRIE THE
ESEBEREMLLA

[ERES LSRR A R, BRI RS, BERESH
N@AD, ENEEN.

TR LI MES I,

BITATIZTATRHE, BFEE1000LZSHEE1-1280EB T

The direct constant-density lubricator add regulatd quantity oil to the
compressed air.A valve maintains oil mist content proportional to the
compressed oil flow.

The pressure drop that occurs when the air flow through a sight feed oil
cup delives oil from the bowl to the sight oil indicator .The drop of the oil
flows into the air channel when it is atomized.

The oil drip rate is controlled by means of the regulating screw.Normally,1
to 12 drops /1000L of the air is sufficient.

il 3= 28 Lubricator / OL

FARSH Technical data

| oL |-| 1/4

oL SMESS Lubricator
1/8 G1/8

1/4 G1/4

3/8 G3/8

12 G1/2

3/4 G3/4

1 G1

MINI INEY

MIDI aakit]

MAXI KE

#Hi& Size MINI MIDI MAXI

T AR Medium R4S Compressed air

=M% & Features of structure SEA AT AT The direct constant—density lubricator

2377 Mounting type ER L T2 Pipe or Foot mounting

RERE Assembly position F|EE+5° Vertical £5°

&% R ~F Connection G1/8 G1/4 G3/8 G3/8 G1/2 G3/4 G3/4 Gl
FRREHUE R & Standard nominal flow rate 1300 2300 2700 5500 6100 6300 8400 9000
A TEE S Max. Working pressure 16bar

/NEERE Min. Standard nominal flow rate 3 Vmin 6 1/min 10 Vmin

& A EAE Max.Condensate capacity 22m1 43m1 80m1

TR ESEE Temperature range 0~60C

##} Materials information

FAk. RS, SEMARUESE. PC, 2BRHFRIFE. BES,
Housing: Zinc die—casting; 011 bowl and Drip cap: PC;
Metal bowl guard: Aluminium alloy; Sealing: NBR

mH . TR

% F3h Recommended oil

1S0 VG 328 [E14% F vk
IS0 VG 32 or the same grade

19-20  Air preparations



i E 2% Lubricator / OL

HARSH Technical data

S8 Bleeder screw

011 adjust strew sEsm&iR p——

E4

i
[P# OHC bracket
Al
|
\ | 2
o 2 Iy | — O o
\
-
i
— ‘ —
‘ o
‘ T
J | U
| SERPE
— ‘ — Metal bowl guard
\
\
\
\
e
[ |
|
S Model £3 E4 E7 F1 F4 F50 L1 L2 L3 H4 H5
OL—...~MINI 40 39 2 G1/8,G1/4,63/8 | M4 45 44 35 11 17.5 20
OL—...—MIDI 55 47 3 G1/8,G1/2,63/4 | M5 5.5 71 60 22 24.5 32
OL—...~MAXI 66 53 3 63/4,G1 M5 5.5 71 60 22 24.5 32,40
OL-1/4-MINI OL-1/2-MIDI
6 ‘ ‘ ‘ 6 ‘ ‘ ‘
5 10 bar-|,12-Bar 5 10 bar28ar
8 bar 8 bar l /
= 4 / §' 4 6 bar H
E 6 bur/ / / Q|
: 3 / | 3 4 bar /
I 4 bar <
o+
a / Q|
| 2 Zt)l] <| 2 D/ur /
1 1
— . e
0 1000 2000 3000 4000 5000 6000 7000 8000 0 4000 8000 12000 16000
[I/min] qn [I/min]
OL-1-MAXI
o I
- 12 bar
El 10 bar
§ . 8 bar |
o 6 bar
N| 3 /
I 4 bar / / /
<
2‘ 2 2 bar/
: //
0 5000 10000 15000 20000 25000
gn [I/min]

“¥INJEF1 Primary pressure: p1=10 bar

;A E &2 Lubricator / OL

FARSH Technical data

F&NO. | &% ltem #4#} Material FE& NO. | &% ltem 4%} Material

1 M E Upper glass PC 16 ZE T Seal piece NBR

2 A T924T Adjust screw #4f Brass 17 OL & OL Body &% Zinc alloy
3 OZ![E O-ring NBR 18 4S#R OUT Flange — OUT $#&% Zinc alloy
4 4% (% ) Ornament cover (circular) | PO 19 R FIRZ Allen screw S35C

5 XA Windshield chip NBR 20 S 42 3E Bleeder screw POM

6 #4XUEE Windshield base #1f Brass 21 OZU[E O-ring NBR

7 SH-IN  Flange - IN H#A&% Zinc alloy 22 ST Valve pin #4f) Brass

8 OZ#U[E O-ring NBR 23 W k4248 Double—end bolt sSuUs

9 OZ#Y[E O-ring NBR 24 Wk Steel ball SUS304

10 {R3PZE Metal bowl guard 244 Aluminium alloy | 25 ME L Oil tube connection POM

11 MAF Lubricator bowl PC 26 ME Oil tube PU

12 R Oil-filter plug Brass powder sintered

13 OZ#Y[E O-ring NBR

14 $TEE Screw base #iF Brass

15 iRidkE Oil dropping PC

21-22  Air preparations



WE RS Pressure regulator combinations / ORB FORWARD WEMA 2 Pressure regulator combinations / ORB FORWARD

FESAAS Type codes HARSH Technical data
RRAE S B TRAZR, TRUEHARE FEH RS General technical data
HESE . BNEE AR > AR
TSR, 8 RERNSIERLEE—NEN 1148 Size e | MID!
HHA,
T AR Medium JE482S Compressed air
=N The regulator for an integrated installation,can ZEHYEE S Features of structure RS ERORER, RS OO S et FARSURAA S (ORBS ) , EEEIRE)
provide a variety of different pressure gas Directly actuated diaphragm regulator with through pressure supply
source, the front and rear sides of each one has
a output connection. 2% 77 Type of mounting W20 g accessory
RERE Assembly position T Any
% $# R~f Connection G1/8 TR LRINIEL (05K ) Gl/4 REEMNEL (EHFR)
(Connection of pressure gauge) (Connection of pressure gauge)
Gl/4 "R ERRBL (SRAE ) G3/8 Tk EIARIREL ( SIRHIL )
(Connection of gas outlet) (Connection of gas outlet)
EHIBTSEEl Pressure regulation range 0.5~7bar
0.5—-12bar
#\JE S Primary pressure 1~16bar
AT E 0.5~7bar 1800 3800
Standard nominal flow rate
0.5~12bar 1600 3200
|ORB|-|1/4 |-| 7 |-| 0 |-| K2 |- | MINI

[# A Th&E Basic function

ORB I RUE A4 Pressure regulator combination

0 Rt Connection
1/4 G1/4
3/8 G3/8
12 G1/2

Y36l Pressure regulation range

0.5...12bar

7 0.5...7bar

[E 15 Pressure gauge

% J15% With pressure gauge

A E 3R Without pressure gauge

TheE Functions

K2 ERAB2NEIER Manifold with 2 pressure regulators
K3 &R A3MRUE R Manifold with 3 pressure regulators
K4 EMBANRIER Manifold with 4 pressure regulators
K5 ERAS5MEER Manifold with 5 pressure regulators
MINI INEY
MIDI ==l
MAXI KA

Pneumatic componen'r 23-24  Air preparations



W EE4 & Pressure regulator combinations / ORB FORWARD WEE4 S Pressure regulator combinations / ORB FORWARD
BARSH Technical data FARSH Technical data

R=IE Dimensions A EBL5HE Inner structure

ORB-...-K2 #7 R~} Basic version

1
2
3
15
4
g 16
- 5
6 i 17
1
7 ! Ir 8
} 19
w 2 8 |
58,5 20
9 __—
21
ORB-...-K3 £7x R~} & Basic version 10 —
11
22
12
¥ 13 23
1 1] 1
] ] e ! 14
i === ¢ ==
rﬁ:_ ' ! ! D FENO. | &% Item ##} Material FENO. | &% ltem ##} Material
4 T 1 JAEF4 Pressure knob POM 16 OR# K Sheet NBR
-
1M 2 @2 Regulator cap POM 17 i EE Overflow base 6061-T6
ORB-..—K4 % R~ Basic version 3 FiAE/NfRUENE Regulator nut S35C 18 & F #£# One part of diaphragm SPCC
4 i E424F Adjusting spindle S35C 19 &K Diaphragm NBR+/2 % M
5 388 Pressure spring SWC 20 OZ![E O-ring NBR
6 RTLFIE Fixed ring 6061-T6 21 OR{&# OR Body &% Zinc alloy
7 &/ #4 One part of membrane NBR 22 4SH-OUT Flange - OUT &% Zinc alloy
1 i [ 1 [
i H i ' 8 OZ[E O-ring NBR 23 S {3 % Spring SWPB
i —1— 1
il _¢. i _Q I | ¢_ —— 9 SSH-IN Flange - IN #A&% Zinc alloy
|
— i - ) i i ] = 10 & Spool #4R Brass
. ::_, b % 11 OZY[E O-ring NBR
Fild [ —ri
rif 12 OZY[E O-ring NBR
13 14T Fasteners #4f Brass
ORB-...-K5 £7x R~} E Basic version
14 PEE $#&% Zinc alloy
15 Mt EEE F; Wearing sheet HEGRIHR Insulation sheet

il 5 e

P
™

Pneumatic component 25-26  Air preparations



4H4% Accessories FORWARD
HARSH Technical data
Mounting bracket OHC -
B1 L1
i o
Fd e 7 2 : l
LS 3 o a
4 |©
B3
RT#iT & ##E Dimensions and ordering data
g Size Bl Bl B1 Bl Bl B1 B1 Bl Bl S Type
MINI 2 19 7.3 4.3 43 35 5.5 11 12 OHC—MINI
MIDI/MAXI 3 19 8.3 53 70 60 16.5 22 14 OHC—MIDI/MAXT
Mounting bracket OHO \ N =z
Q‘ _ |
o H
: p——)
D M =
E
1
-
vas __l__CN %n
i —
\ ! J
o
.i.'
R-T#1iT & ##E Dimensions and ordering data
H#% Size A B ¢ D E F g H 1 d K L M N RS Type
MINI/MAXI 225 | 36.5 | 35 56 40 12 6.5 10 12 20 40.4 | 15 4 2 OHO—MINI/MAXL
MIDI 30 52.5 | 48 70 53 12 8.5 105 175 27 55.5 | 20 4 2 OHO-MIDI
Nut HMR
o

R~H#iT# %% Dimensions and ordering data

i Size A B C D S Type
MINI/MAXT 44 45 M36*1.5 7 HMR—MINI/MAXT
MIDI 60 62 M52*%1.5 8 HMR—MIDI

4 Accessories FORWARD

HARS¥ Technical data

Manometer OMA

ENRBATFNE. BRSSRHRENE.

The manometer is used to measure and display the pressure of
the controlled system.

R~1#iT %1% Dimensions and ordering data

FE Type Normal size SMERF Pneumatic connection #MHR~F Indicating range ZRSEH
OMA-40-10-1/8 40 G1/8 0-10 bar
OMA-40-16-1/8 0-16 bar
OMA-50—-10-1/4 50 G1/4 0-10 bar
OMA-50—-16-1/4 0-16 bar

Branching modules FRM

T
(I
- —‘—‘l‘—‘— 1
I R I
T
Il Il
IJ——l——lI
A A
- B —]
ﬂ R =
- N

A Size A B € D E F G H S Type
MINT 6 G1/8,G1/4,G3/8 | 22 40 30 4.3 11.5 40 FRM—...—MINI
MIDI 8 G3/8,G1/2,G3/4 32 55 43 5.5 16 55 FRM—...-MIDI

Pneumatic componen'r 27-28  Air preparations



B4 Solenoid valve / 3V1 FORWARD B4 Solenoid valve / 3V1 FORWARD

TSR ES Type codes FHARSE Technical data

1. BExhXNEAR, #oRE 3V1 EEHAEY General technical data

Direct acting type and normally closed mode,flexible in direction change;

2. EEIEIDE, S Type 3V1-M5 | 3vi-o6
No need to add oil for lubrication; ~ ) NN A . :
) it ey | =5 (£ eI
3. TEEMERER, PETETE, T &1 Fluid =R (A40umIE I IE ) Air(to be filtered by 40um filter element)
Several valves can be installed integrately to save installation space; YEFIHR Actin E#7 Direct actin
4. WEFHER, AFRERR; > eing : 9
Affiliated manual devices are equipped to facilitate installation and debugging; % 12 Port size M5 ‘ 1/8
5. BEMIREBESRITMER,
Several standard voltage grades are optional. {fLE % Valve type =M= 3 port 2 position
1 F % /1588 Operating pressure 0.15-0.8MPa(21-114Psi)
RIEMSE /1 Proof pressure 1.5MPa(215Psi)
T 18 & Temperature —-20-70%C
H KA &R Orifice size 1.2mm
AAEH R Material of body 854 Aluminum alloy
JE78 Lubrication AREFEE Not required
‘ 3v)||1]l06/-|A |- -| #AEE Standard voltage AC220V,ACT10V,AC24V,DC24V,DC12V
1 FIEE & SEE Scope of voltage AC: +15%,DC: + 10%
#EE8 Power consumption AC:3.5VA,DC:3.0W
1RIPELR Protection IP65(DIN40050)
T#E 4% Temperature classification Bk B Class
B AR Electrical entry DIN #EEET, H%= Terminal. Grommet
TR FELRTE) Activating time 0.05F) I T 0.05 sec and below
&S 1EENHE Max. frequency 102Kk / # 10 cycle/sec
06 1/8
= AP 4aME Inner structure
iR B E Voltage &
FS NO. ZR Item FS NO. | &#R ltem
A AC220V o, i il
B DC24V 1 e imF Connector 5 AT FNEk4E Armature
2 i ki A Ori
c AC110V - 4 imFER Gasket 6 0% O-ring
E AC24V s 3 [ E 42118 Coil nut 7 £ 3385 Return spring
F DC12V g 4 £ Coil 8 A4k Body
HEH 7 Electrical entry M
DINfRE
' HER 3V#&5lI R~ E Dimensions
& O 48 5F Thread type 3V1 Terminal 3V1 Grommet
PT
62
NPT NPT 0.0
. 2
G G ﬁ 3
21 | 3 i 3
o ZENANE ° 23,380
A 25.3(AL) P |9l 2 A 2-53(mA) ? [ale
= o6:105 | W far  seios
M5:125 f M5:125 }
L23 [\ M5:3M540.8 16 | | 55 L 23 N M5:3:M5%08 16 | | 55
tam  OGPTIEZE 30 tan 6P EN
15, 2-MAXOT®6 15 2-M4X0TH6
© | @ © | 2
Am@m AmEm

Pneumatic component 29-30 Valves




HLf# @ Solenoid valve / 3V100,3V200,3V300

FISRAS Type codes

FORWARD

£GHR. SMBSHIBATE;

Pilot—oriented mode:optional for internal or external;

ARG, BHEME, RER

Structure in sliding column mode:good tightness and sensitive reaction;
WL BN EFICIZIhEE

Double control solenoid valves have memory function;
RARAEHRIZNI, BEEEN/)N, BRHRER, £AFGK

Internal hole adopts special processing technology which has little attrition
friction,low start pressure and long service life;

THEHEE;

No need to add oil for lubrication;

MR FahRE, FFREFR,

Affiliated manual devices are equipped to facilitate installation and debugging;
BERMIREBESRTHER,

Several standard voltage grades are optional.

(3v][1]]10]-06]-[NnO]-

3V =[O {8 R4 Solenoid valve(3/2 way)
1 100 Series
2 200 Series
3 300 Series
BiEH X Valve type
10 WMALE B E# 12 Single solenoid
20 WALE W EIE Double solenoid
M5 M5
06 1/8
08 1/4
10 3/8
NC # A% Normally closed
NO # 5 Normally opened
7R E Voltage
A AC220V
B DC24V
C AC110V
E AC24V
F DC12v
i/ A= Electrical entry

DINFEEE Terminal
I Hg = Grommet

PT
NPT NPT
G G

K] Solenoid valve / 3V100,3V200,3V300

HARSH Technical data

FORWARD

3V FERKASH General technical data

BS Type 3V110-M5 | 3V120-M5 | 3v110-06 | 3V120-06 | 3V210-06 | 3V220-06 | 3V210-08 | 3V220-08 | 3v310-08 | 3V320-08 | 3V310-10 | 3V320-10
THENR 2R ( Z40umiBTIE )

Fluid Air(to be filtered by 40um filter element)

Eah TR S

Acting Internal piloted

BEEOR M5 1/8 HE=tHS=1/8| #5=HK=1/4 HE=H==38
Port size In=0ut=1/8 In=0ut=1/4 In=0ut=3/8
FrEmR 5.5mm? 12.0mm? 14.0mm? 16.0mm? 25.0mm? 30.0mm?
Orifice size (Cv=0.31) (Cv=0.67) (Cv=0.78) (Cv=0.89) (Cv=1.39) (Cv=1.67)
fLEE =0"f

Valve type 3 port 2 position

ERENEE 0.15-0.8MPa(21-114Psi)

Operating pressure

{RIETS E A1 1.5MPa(215Psi)

Proof pressure

TERE -20~70%C

Temperature

AR BE

Material of body Aluminum alloy

R THE

Lubrication Not required

PROEBE AC220V,AC110V,AC24V,DC24V,DC12V

Standard voltage

EREESERE AC: +15%,DC: = 10%

Scope of voltage

FERE AC:2.5VA,DC:2.5W AC:3.5VA,DC:3.0W

Power consumption

RIPER IP65(DIN40050)

Protection

TAER BZ% B Class

Temperature classification

AR DIN fEE, B

Electrical entry Terminal. Grommet

R R 8] 0.05%)

Activating time 0.05 sec and below

R ERIE 5%/ ®

Max. frequency 5 cycle/sec

Pneumatic component 31-32 Valves



K {#K® Solenoid valve / 3V100,3V200,3V300 FORWARD B #® Solenoid valve / 3V100,3V200,3V300 FORWARD
R ARSE Technical data HARSEL Technical data

AN EBLHAME Inner structure 3V100 R~} E Dimensions

|

3V110 DIN#HEER (Terminal)
55
1098 7654321 98 7654321 Rt ﬁé Eﬁ
1 6= [ | | 233 Lf- @
[
1 3 ~ :;' q _."."T =i
13 ie B hgza
o = -
14 15/16/17 18 \19 \20 14/15/16/17, 18 \19 \20 T Llhsb s 4T3
13 27
18
3V110 H £ 3 (Grommet)
FSNO. | &R Item FE NO. | &% ltem
1 BIZE$H Fixed plate 12 JiE2 Bottom cover 285
2 FZh Manual override 13 [E] Sk 4247 Screw I
|
3 3 E Override spring 14 it EEER Wearing ring | !
4 HEI0% Piston O-ring 15 & Z Piston 233 if- é
=
5 31544k Pilot body 16 $2SL484T Pilot screw il iR
6 HEI0% Piston O-ring 17 0% O-ring 5 i[%— 3 o o t
= T
7 #hith Spool 18 A% Armature t pecg 234/p3 0
13 27 _—
8 0% O-ring 19 2 Coil 18 47120 th£5 (Grommet)
9 A4k Body 20 Bl 4218 Coil nut 3V120 DIN#E&EET (Terminal)
10 3% Spool spring 21 i#F Connector 55 |
=4 4
11 1Fitt# Bottom cover gasket — 2 s
2
=1
S

06: 16

M5: 142

L=
&
N

21
1314

j o
552

77, 3,

285

B

4]
3V110-M5:3-M5
3V110-06:3-PT1/8

]
Ji-
M5: 14.2

|
=

06:

21
1314

552
57.7

B
U

P!
£

Pneumatic component 33-34 Valves



HLf# @ Solenoid valve / 3V100,3V200,3V300 FORWARD K@ Solenoid valve / 3V100,3V200,3V300 FORWARD

R ARSE Technical data HARSEL Technical data

3V300 R~} E Dimensions

3V200 R~}E Dimensions

3V210 DINFHEE (Terminal) 3V310 DIN#EEEZ (Terminal)
667 69.2
40 40
i .
2-032 5% ,E__B g E g 2443 J.__._l-‘ 8
e le
gg‘(@ R “L g3 JL ;[ i
3 = 4 -9
g4 S 3 i L2 E) K
" LlLos:0 2242 /| |82 o 243/ 105
17 |[08: 15 35 *1L20 ] 40
22 27
3Vv210 H 4 (Grommet) 3Vv310 H 4 (Grommet)
345
ﬁ- o ;
| g8 &
2232 _E_B g s | | | 2043 J..M 8 Am
i = 1
19" i {hl i
A 3 = H 5 vl
cH 2 | SEE
06:0 2042/| | 52 oe 2243/ |10s
17 |[08: 1.5 3 .20 | a0
2 L 27
3220 DIN3EE (Terminal) 3V320 DIN{EEE (Terminal)
f:.? TR S
40
=g ?
L 152
L g fad |
" e
2042 P @ 243
szl | [N msl, “[3
g ] [
EJ 3 & E
5 ot %0 |

Sheztlse R 3V320 H£ = (Grommet)
I

M5
| =as] gé a2
- £2
£ | 3R
i 24
2242 V7 I 2043 L 24
—si—j: :q§ seis P o=
10.5 2
s, =4
e o
2 N { o
S S
i -
35
3 ]

Pneumatic component 35-36 Valves



K 5@ Solenoid valve / 4V100

FISRAS Type codes

LN
2.

3.

~
7

10 20

wry

30C 306 300

[T <L «Q0VIze

FORWARD

KSHNX: HNEBSREPITLE;

Pilot—oriented mode:optional for internal or external;

ARG, BHEME, RER

Structure in sliding column mode:good tightness and sensitive reaction;
S EBEEE =PRI T HIE R,

Three position solenoid valves have three kinds of central function for
your choice;

Wk Z 47 B B R FICIZIRE;

Double control solenoid valves have memory function;
RARAEHRIZNI, BEEEN/N, BRHRER, E£AFGK

Internal hole adopts special processing technology which has little attrition
friction,low start pressure and long service life;

THEIHEE;

No need to add oil for lubrication;

ASREEMREA, HERKTIE,

It is available to form integrated valve group with the base to save
installation space;

MRFahRE, FFREFR,

Affiliated manual devices are equipped to facilitate installation and debugging;
BERIREBESRAMER;

Several standard voltage grades are optional;

[av][1][10]-[06]-[A]-[ |-[ ]

4v AAZAL. AAO=AERI Solenoid valve 5/2. 5/3way
T [ toseres
10 WAL E BB 1% Single solenoid 5/2 way
20 WALE W IE Double solenoid 5/2 way
30C =B R A R
Double solenoid 5/3 way closed center
30E ZAEREEPAHSE
Double solenoid 5/3 way exhaust center
30P =N ENEBEP A ESE

Double solenoid 5/3 way pressure center

M5 M5

06 1/8

iR B E Voltage

A AC220V

B DC24V

C AC110V

E AC24V

F DC12v

1 73 Electrical entry
DIN#REER Terminal

[ g Grommet
PT

NPT NPT

G G

B i Solenoid valve / 4V100

HARSH Technical data

FORWARD

4V100 EERK A SH General technical data

B Type 4V110-M5 4V130C-M5 4V110-06 4V130C-06

4V120-M5 4V130E-M5 4V120-06 4V130E-06
4V130P-M5 4V130P-06

THENMR =5 (Z40umIERITE )

Fluid Air(to be filtered by 40um filter element)

G £SR

Acting Internal piloted

EEOR HR=HSR=M5 HE=H5=1/8

Port size In=0ut=M5 In=0ut=1/8

BB EIR 5.5mm? 5.0mm? 12.0mm? 9.0mm?

Orifice size (Cv=0.31) (Cv=0.28) (Cv=0.67) (Cv=0.50)

REH AAZAHr AA=A4r o et v i i=tiva

Valve type 5 port 2 position 5 port 3 position 5 port 2 position 5 port 3 position

FEAEEE 0.15-0.8MPa(21-114Psi)

Operating pressure

fRIET £ 1.5MPa(215Psi)

Proof pressure

IERE -20-70%C

Temperature

AR BEe

Material of body Aluminum alloy

B FEE

Lubrication Not required

RE SR 5K/ F 3R/ 5%/ 3K/ F

Max. frequency 5 cycle/sec 3 cycle/sec 5 cycle/sec 3 cycle/sec

=8 4V110-M5:120g 200g 4V110-06:120g 200g

Weight 4V120-M5:175g 4V120-06:175g

TRAEHE AC220V,AC110V,AC24V,DC24V,DC12V

Standard voltage

EREESER AC: +15%,DC: + 10%

Scope of voltage

R AC:2.5VA,DC:2.5W

Power consumption

RIPFER IP65(DIN40050)

Protection

THAER BZ% B Class

Temperature classification

A DIN #EER, Hk
Electrical entry Terminal. Grommet
TR HR 8] 0.05%)

Activating time

0.05 sec and below

Pneumatic component 37-38 Valves



K 5@ Solenoid valve / 4V100

RS Technical data

FORWARD

F 2451 Flow chart

4V110-06

4V110-M5

EREA (PMa)

Y 100 200 300 400

©
s
S
R
1
HE
#
0 200 400 600 800 1000
mE (L/min)

A EBLHAME Inner structure

4V110
4" 181716 15 1413
12
91 11

4V130C

4V120

11" 181716 15 14

FS NO Z R Item FS NO. | &% Item

1 #%F Connector 12 3% Spool spring

2 & £ 421§ Coil nut 13 1Ettt# Bottom cover gasket
3 £ Coil 14 0 % Spool O-ring

4 A Ehek Armature 15 itk Spool

5 EIZE#F Fixed plate 16 RAI0% Piston O-ring
6 & Piston 17 3# % Override spring

7 5| S 4K Pilot kit 18 Fzh$§ Manual override
8 Z4&k Body 19 £ VA Spring holder

9 it BEER Wearing ring 20 3% Return spring

10 JiK2 Bottom cover 21 fiz& Side cover

11 4247 Fixed screw 22 £ V3 Spring holder

B Solenoid valve / 4V100

HARSH Technical data

R~1E Dimensions

FORWARD

A5 Model A B C D E F G
4V110-M5 M5%0.8 27 14.7 0 14 21.2 0
4V110-06 PT1/8 28 14.2 1 16 20.2 3
4V120-M5 M5%0.8 27 57.7 0 14 64.3 0
4V120-06 PT1/8 28 57.2 1 16 63.2 3
4V130-M5 M5%0.8 27 57.7 0 14 64.3 0
4V130-06 PT1/8 28 57.2 1 16 63.2 3

4V110 DIN#EEEZ (Terminal)

55
3
| I-ﬂ
k pr
2.5 T Fa| = }
L1 W %,
P 2
-
[ B
] Ll | . %
B b5 plo
s 27
T
4V120 DIN#HEEZL (Terminal)
=1 ETII
-
| [P
|~
L
NEE
~
S
H} i
5.5

2233

|
A7)

[34]

B4.2

Pneumatic component 39-40 Valves

4V110 HiZ 3 (Grommet)

ZSE

-
I
—— ¥
21214 “ 243

994
B
8.2 54

4V120 H % = (Grommet)

L 284
i T
ur]!g %
hEER
[: g i E
o |
i
a7

4V130 £ = (Grommet)
284

—i—F

% u_-gl

-

1% =

4 __2

b o ™
D:o




L Solenoid valve / 4V200 FORWARD

FISRAS Type codes

1. £SHN: MBS RIPE;
Pilot—oriented mode:optional for internal or external;
2. BERE, BHME, RERE
Structure in sliding column mode:good tightness and sensitive reaction;
3. =B BHRE =M R,
Three position solenoid valves have three kinds of central function for
your choice;

> Te 4. Wk THIE BRMAFICTINE,
o s Double control solenoid valves have memory function;
ey - 5. WILRAEEHRIZNI, BZREN/), BHSER, £AFGK
g " Internal hole adopts special processing technology which has little attrition
L friction,low start pressure and long service life;

6. THENHERE;
No need to add oil for lubrication;
ASREEMREA, HERKTIE,
It is available to form integrated valve group with the base to save
installation space;
8. MHRFMEE, FITFLEMA;
Affiliated manual devices are equipped to facilitate installation and debugging;
9. HZMIREBRESRITMER;

Several standard voltage grades are optional;

~
7

10 20
fle =gl

(T Tfe &1 ]I «IIYITe

T
CLE]

[av] 2] [10]-[08]-[A]-[ |-[ ]

4v AAZAL. AAO=AERI Solenoid valve 5/2. 5/3way
2 [ 20seres
10 WAL E BB 1% Single solenoid 5/2 way
20 WALE W IE Double solenoid 5/2 way
30C =R E I ER SR AL ) B

Double solenoid 5/3 way closed center
30E =NENBEPAHRE

Double solenoid 5/3 way exhaust center
30P =N ENEBEP A ESE

Double solenoid 5/3 way pressure center
06 1/8
08 1/4
iR B E Voltage
A AC220V
B DC24V
C AC110V
E AC24V
F DC12v
18 A3 Electrical entry

DIN#EEER Terminal
[ g Grommet

PT
NPT NPT
G G

B i Solenoid valve / 4V200

HARSH Technical data

FORWARD

4V200 EERK A SH General technical data

B Type 4V210-06 4V230C-06 4V210-08 4V230C-08

4V220-06 4V230E-06 4V220-08 4V230E-08
4V230P-06 4V230P-08

TR =5 ( Z40umiET g )

Fluid Air(to be filtered by 40um filter element)

e ESK

Acting Internal piloted

EEOR HR=HS=H5=1/8 MR =HS=1/4, HS=1/8

Port size In=Out=Exhaust=1/8 In=Out=1/4,Exhaust=1/8

HREER 14.0mm? 12.0mm? 16.0mm? 12.0mm?

Orifice size (Cv=0.78) (Cv=0.67) (Cv=0.89) (Cv=0.67)

REH AAZAHr AA=A4r o et v i i=tiva

Valve type 5 port 2 position 5 port 3 position 5 port 2 position 5 port 3 position

FEAEEE 0.15-0.8MPa(21-114Psi)

Operating pressure

fRIET £ 1.5MPa(215Psi)

Proof pressure

IERE -20-70%C

Temperature

AR BEe

Material of body Aluminum alloy

i) ARE

Lubrication Not required

EEHERE 5K/ F 3K/ 53/ # 3K/ F

Max. frequency 5 cycle/sec 3 cycle/sec 5 cycle/sec 3 cycle/sec

=8 4V210-06:220g 3609 4V210-08:220g 3609

Weight 4V220-06:320g 4V220-08:320g

TRAEHE AC220V,AC110V,AC24V,DC24V,DC12V

Standard voltage

EREESER AC: £+ 15%,DC: + 10%

Scope of voltage

R AC:3.5VA,DC:3.0W

Power consumption

RIPER IP65(DIN40050)

Protection

TSR B%

Temperature classification B Class

AR DIN R, ez

Electrical entry Terminal. Grommet

BRI 8] 0.05%

Activating time

0.05 sec and below

Pneumatic component 41-42  Valves



FORWARD FORWARD

K 5@ Solenoid valve / 4V200

RS Technical data

B Solenoid valve / 4V200

HARSH Technical data

S Ri@omenors ]

4\V210-06 4\/210-08 #-S Model A B C D E

4V210-06 PT1/8 PT1/8 18 22.7 0

o 4210-08 PT1/8 PT1/4 21 21.2 3

- . 06 4V220-06 PT1/8 PT1/8 18 76.4 0

© ©

g i z-z 4922008 PT1/8 PT1/4 21 74.9 3

’ 4V230-06 PT1/8 PT1/8 18 76.4 0
R R 03

1 B o2 4V230-08 PT1/8 PT1/4 21 74.9 3
EE B gy
# #®

0 400 800 1200 1600
e (L/min) 4V210 DIN$EEET (Terminal) 4v210 B £ 3 (Grommet)

A EBLHAME Inner structure

4V210 4V220
= I P il
1. 1817 16 15 1413 1. 1817 16 15 14
- 12
3/ 4 910 11 4 9
4V230C
1974
FS NO R ltem FE NO. | &R Item
1 #%F Connector 12 3% Spool spring
2 & £ 421§ Coil nut 13 1Ettt# Bottom cover gasket
3 £ Coil 14 0 % Spool O-ring
4 A Ehek Armature 15 itk Spool
5 EIZE#F Fixed plate 16 RAI0% Piston O-ring
6 & Piston 17 3# % Override spring
7 5| &A4E Pilot kit 18 Fzh§H Manual override
8 Z4&k Body 19 £ VA Spring holder
9 it BEER Wearing ring 20 3% Return spring
10 JiK2 Bottom cover 21 iz Side cover
11 #24T Fixed screw 22 £ AR Spring holder

36

7

674

74

S EEIrEmE

24

.

JZU

]H:

N2

854

EE T Bed T 1

A

66.7

.

LH

Ld

e

117

2-o4.3
.u
T

o

B2z, 20
@
622

4V220 DINFHEER (Terminal)
667

2-74.3
.Lu
S i

171
20
61

105

5

.
40
3l
L
¥
~
g v | |8
e
“ )
=
105
35

Pneumatic component 43-44  Valves

37

674

o d T}

ETa
"

. 365

N2
17
2043
[
"—'1"

¥

s

|
854
171
734 20
=
wir

4V220 H 25 (Grommet)

_ 365

‘A
243

.I-U

1—”

10.5 |

;
if

365
]
. :
~ |
~ : 3_1_
|-
g e :
Al |
He |
5 |ghlp
G 1
!
10.5 ]
35




B Solenoid valve / 4V300

AS4RA0 Type codes

KSHN: SIMERNIBTIE;

Pilot—oriented mode:optional for internal or external;

ARG, BHEMY, RERS

Structure in sliding column mode:good tightness and sensitive reaction;
B BREEE =R TR T HE

Three position solenoid valves have three kinds of central function for
your choice;

Wk A E BB EFICIZINGE;

Double control solenoid valves have memory function;
NILRABKIZNI, BEEN/N, BHSER, £AFGK

Internal hole adopts special processing technology which has little attrition
friction,low start pressure and long service life;

THEIHEE;

No need to add oil for lubrication;

ASREEMREA, HERKTIE,

It is available to form integrated valve group with the base to save
installation space;

MR FahRE, FFREFR,

Affiliated manual devices are equipped to facilitate installation and debugging;

EERRERESRITHER;

Several standard voltage grades are optional;

v (3] s0)-lw0)-[a]-[ )L

4V I FOZfI. AO=HEB#BE Solenoid valve 5/2, 5/3way
3 | 300 Series
10 WAL E #E#3% Single solenoid 5/2 way
20 WALE W EIZE Double solenoid 5/2 way
30C =B R A R

Double solenoid 5/3 way closed center
30E SMUERBIFRAHSE

Double solenoid 5/3 way exhaust center
30P ENERBIERAENE

Double solenoid 5/3 way pressure center
08 1/4
10 3/8
A AC220V
B DC24Vv
C AC110V
E AC24V
F DC12v

DINHEEE R Terminal

3 Grommet

PT
NPT NPT
G G

£ Solenoid valve / 4V300

HARSH Technical data

HE Type 4V310-08 4V330C-08 4V310-10 4V330C-10

4V320-08 4V330E-08 4V320-10 4V330E-10
4V330P-08 4V330P-10

TR 5 ( Z40umiE LI )

Fluid Air(to be filtered by 40um filter element)

e S

Acting Internal piloted

BEOR MR =W =H==1/4 HE=H==38, H==1/4

Port size In=Out=Exhaust=1/4 In=0ut=3/8,Exhaust=1/4

AEER 25.0mm? 18.0mm? 30.0mm? 18.0mm?

Orifice size (Cv=1.40) (Cv=1.00) (Cv=1.68) (Cv=1.00)

B AAZAr =t iva AAZAfr AA=A4r

Valve type 5 port 2 position 5 port 3 position 5 port 2 position 5 port 3 position

FEAEEE 0.15-0.8MPa(21-114Psi)

Operating pressure

{RIETR E 1 1.5MPa(215Psi)

Proof pressure

THERE -20-70%C

Temperature

AEHR BEd

Material of body Aluminum alloy

ED= ARE

Lubrication Not required

REHERE LR/ T 3R/ 4R /T 3K/

Max. frequency 4 cycle/sec 3 cycle/sec 4 cycle/sec 3 cycle/sec

=8 4V310-08:310g 4509 4V310-10:310g 4509

Weight 4V320-08:400g 4V320-10:400g

ERE AC220V,AC110V,AC24V,DC24V,DC12V

Standard voltage

EREESER AC: +£15%,DC: + 10%

Scope of voltage

R AC:3.5VA,DC:3.0W

Power consumption

RIPER IP65(DIN40050)

Protection

i # G LR B%

Temperature classification B Class

FEHE AR DIN R, 4

Electrical entry Terminal. Grommet

R R LA 8] 0.05%)

Activating time

0.05 sec and below

45-46 Valves



FORWARD B Solenoid valve / 4V300 FORWARD

HARSH Technical data

K {#K® Solenoid valve / 4V300

RS Technical data

Rt Flow chart Rf@Dimensions |

4V310-08 4V310-10 S Model A B € D E

4V310-08 PT1/4 PT1/4 22 29 0

4V310-10 PT1/4 PT3/8 24 28 4

= = 4V320-08 PT1/4 PT1/4 22 83.9 0
= =

x [ 4V320-10 PT1/4 PT3/8 24 82.9 4

R R 4V330-08 PT1/4 PT1/4 22 83.9 0

4 [os] 4V330-10 PT1/4 PT3/8 24 82.9 4
HE BE
# #

0 400 800 1200 1600

0
0 400 800 1200 1600 2000 2400

P (L/min) L2 (L/min) 4V310 DINFEEE: (Terminal) 4V310 H 2= (Grommet)
9.2
w0 L33
= 1 ;
A EBL5HAE Inner structure Im AI .I
4V310 4V320 I p— ] ?i
= o i ot
| || ﬂ T2 il | I~ IS ol
Sl L[ 8 & SRR "
. . i |
e ,. . S NEE ool A | ek
1. 181716 15 1413 1. 1817 16 15 14 e = 2 I = | i
'l i =2 |' fmm —
_ .20 135 .20 13s|| | Eq
12 L 27 40 .27 | |40 |
¥4 ) i 4 - 4V320 DIN#EEET (Terminal) 4V320 HZ£ = (Grommet)
692
4Vv330C - T -
v »
T :
|
| i
= i 1
' B IE G IET R N
4 . T (RS
T &d | 1f* | %
¢ & 5 g l@ ]| gg :g v
A v A 4 b
1 &
= & a il 7 a
3 5 S ﬂ Chin }
| {po | et i | et
FESNO. | &% item FSNO. | &% Item 20 135 20 1351 | .
| B
1 #F Connector 12 3% Spool spring -4 a0 Z —
2 [E £ 421§ Coil nut 13 1Ettt# Bottom cover gasket 4V330 DIN#EEE (Terminal) 4V330 H £ 7t(Grommet)
3 £ Coil 14 0 % Spool O-ring
4 AIZh%k Armature 15 ik Spool kL
==
5 E|7E#k Fr Fixed plate 16 HEI0% Piston O-ring
6 & Piston 17 3# % Override spring = ‘I b ?i
4 ~
7 5| S ZAAE Pilot kit 18 FHh44 Manual override _--_j # - " ! 245 n
™~ - 1
8 754k Body 19 £3E Spring holder e E T«:?"'j & [
. . i et be w T" |
9 it BEER Wearing ring 20 3% Return spring @ £3 = @ ﬁ |
e P . |
10 JiE 2 Bottom cover 21 iz Side cover Fend 1 4 *
11 1247 Fixed 22 J3E Spring hold RBIE | |
ixed screw S AFE Spring holder i 3 = a L
'S L 3 s
e | 4 L :
2l s lofl 1304
| 2] L e | 27 b

Pneumatic component 47-48  Valves




L Solenoid valve / 4V400 FORWARD

FISRAS Type codes

1. £SHN: MBS RIPE;

Pilot—oriented mode:optional for internal or external;

2. BERE, BHME, RERE
Structure in sliding column mode:good tightness and sensitive reaction;

3. S EHHEE=MPRIETHRIEE,

Three position solenoid valves have three kinds of central function for
your choice;

4. WM BBH@MBEBFILICIEE;

Double control solenoid valves have memory function;

5. WILRAEEHRIZNI, BZREN/), BHSER, £AFGK
Internal hole adopts special processing technology which has little attrition
friction,low start pressure and long service life;

6. THENHERE;

No need to add oil for lubrication;

7. T5RESMBE, TERERE,
It is available to form integrated valve group with the base to save
» » installation space;
P is 8. MHRFMEE, FITFLEMA;
wﬂ“ ""@?@ Affiliated manual devices are equipped to facilitate installation and debugging;

9. HEMIRERESRIMHIEM;

Several standard voltage grades are optional;

[av] [4][10]-[15]-[A]-[ |-[ ]

4v AAZAL. AO=AERI Solenoid valve 5/2. 5/3way
4 [ eo0seres
10 WAL E BB 1% Single solenoid 5/2 way
20 WALE W IE Double solenoid 5/2 way
30C =R E I ER SR AL ) B

Double solenoid 5/3 way closed center
30E =NENBEPAHRE

Double solenoid 5/3 way exhaust center
30P =N ENEBEP A ESE

Double solenoid 5/3 way pressure center
15 12
iR B E Voltage
A AC220V
B DC24V
C AC110V
E AC24V
F DC12v
1 73 Electrical entry

DIN#EEER Terminal
[ g Grommet

PT
NPT NPT
G G

B £ Solenoid valve / 4V400

HARSH Technical data

FORWARD

4V400 EERK A SH General technical data

RIS Type 4V410-15 4V420-15 4V430C-15 4V430E-15 ‘ 4V430P-15
THENR =R ( L40umiEiiT iR )

Fluid Air(to be filtered by 40um filter element)
ERTTR £S5

Acting Internal piloted

BEOR HR=HS=HS=1/2

Port size In=0ut=Exhaust=1/2

FREER 50.0mm? 30.0mm?
Orifice size (Cv=2.79) (Cv=1.68)
VA= HOZAL AO=AL
Valve type 5 port 2 position 5 port 3 position
EREERE 0.15-0.8MPa(21-114Psi)

Operating pressure

{RIET E A 1.5MPa(215Psi)

Proof pressure

TERE -20-70%C

Temperature

A EEE

Material of body Aluminum alloy

R e S

Lubrication Not required

ReafERE 3R/ T

Max. frequency 3 cycle/sec

58 5909 7209 770g
Weight

ERE AC220V,AC110V,AC24V,DC24V,DC12V
Standard voltage

AR ESERE AC: +15%,DC: + 10%

Scope of voltage

FEERE AC:3.5VA,DC:3.0W

Power consumption

RIPER IP65(DIN40050)

Protection

SR BZ

Temperature classification B Class

EEER DIN #EE, HZki

Electrical entry Terminal. Grommet

52 R #ERT 8] 0.05%)

Activating time

0.05 sec and below

Pneumatic component 49-50 Valves



FORWARD B Solenoid valve / 4V400 FORWARD

HARSH Technical data

K {#K® Solenoid valve / 4V400

RS Technical data

=4 Flow chart R~1E Dimensions

4V410-15 4V410 DIN$EEET (Terminal) 4V410 H 23t (Grommet)
742 44
'—--na.._
~ i ® l
: ] . [
Z | 1 L
& E 3 '_uijh L] | E’ 2 28 f ﬂ
R 2y L i -y o = :l |
b4 2 | | J 3l S4B Y &
BE = | | = -
Bl g€~ (& | |2 e 2+ (= R :s.[
0 500 1000 1500 2000 2500 3000 3500 4000 | 6; & M 4 | i = 1 5 Bhd &8
wE (L/min) a 2l | in B als 2 F‘_Lr g[
Lar 175 | L3z | 175
7 50 1 e
A &B4#aE Inner structure
4V410 4V420
4V420 DIN#EEE (Terminal) 4V420 {23 (Grommet)
q?l—-_ 742 44
i =
11 181716 15 1413 LA 181716 15 14 mg | =L r:] m .
| e | E m
¥
e 3 o 'ga_‘lfiﬂ A | ,,! | 2s j
12 e 4 | 1 N El i
3/ 4 ; 9/10/ \11 9 1 e | -’ id &
o ' ﬁ[
3 A 2 B § A [
ko § - | @ g -G
Faud | fo N
4V430C gem 4 | 1:;,4 . __';_
E g E | E '; E E 1] =
| | [ "
E’“ 75 | i [ 27| 75
34 L 50 | 4 50
1 4V430 DINEEER (Terminal) 4v430 H £ (Grommet)
742 44
;—!l-._
FS NO Z R Item FE NO. | &R Item
1 #%F Connector 12 3% Spool spring m m ﬂ |
2 £ 4218 Coil nut 13 1kt Bottom cover gasket E'E' 28 | = ? = ;i' "ﬁ
3 £ Coll 14 0 4 Spool O-ring Ej ”: 14 E A [ 2
— _ng A 4 | Y
4 A Ehek Armature 15 %3 Spool : g T‘“a . é ? - w=J 2 e =~
5 ERE%H Fixed plate 16 S804 Piston O-ring bl @ g o & ® B fé; AP : g | =3 s
- e . 3 o .
6 & Piston 17 3# % Override spring o 7 F==9 | @;
5, Ho 5k | B
7 3| Sk Pilot kit 18 E3h$4 Manual override = * - - i ' i
@ = = [~ 1 1 o
8 Z{f Body 19 £3E Spring holder i & ﬁ E g & E i T E =
9
9 it BEER Wearing ring 20 3% Return spring L [H ] I ! i | L ! M
175 i
10 JiK2 Bottom cover 21 iz Side cover L7 4% ! 7 e
£ = 50
11 24T Fixed screw 22 SV Spring holder

Pneumatic component 51-52 Valves




S#218 Air valve / 3A100,3A200,3A300

FISRAS Type codes

10-KC 10-NO

ofCINE NG SNk

RIS Type

FORWARD

B, BEME, RERE

Structure in sliding column mode:good tightness and sensitive reaction;
WLSEABICILRE,

Double air control valves have memory function;
RNILRAFKIZNI, EEEN/N, BHSER, £AFGK

Internal hole adopts special processing technology which has little attrition
friction,low start pressure and long service life;

THIHIEE;

No need to add oil for lubrication;

ZNELRLR, TRERTE.

Malti-mounting helps to install and apply.

3all1][10/-[06 -[nO/-| |

w

A Z ORISR Air valve (3/2 way)
R4S Code

—_

100 Series

N

200 Series

w

300 Series
HBiEH X Valve type

—

0 WALE B S 2 Single air control
0 WALE WS 3% Double air control
& [O%E Port size

m N
]

=

5 M5
6 1/8
8 1/4
0 3/8
#154K 7 Acting type

o

o

—

P

C # A& Normally close

=z

[6} #FFE Normally open
& 1425 Thread type

]

PT

=z

PT NPT

0]
)

S#21 Air valve / 3A100,3A200,3A300

HARSH Technical data

FORWARD

3A EE#H K S % General technical data

B S Type 3A110-M5 | 3A120-M5 | 3A110-06 | 3A120-06 | 3A210-06 | 3A220-06 | 3A210-08 | 3A220-08 | 3A310-08 | 3A320-08 | 3A310-10 | 3A320-10
THENR =5 ( L40umiEd IR )

Fluid Air(to be filtered by 40um filter element)

Eah IR SNER IR

Acting Exterior control

EERR M5 18 HR=HT=1/8| #=H=1/4 #A = H==3/8
Port size In=0ut=1/8 In=0ut=1/4 In=0ut=3/8
FrEmR 5.5mm? 12mm? 14.0mm? 16.0mm? 25.0mm? 30.0mm?
Orifice size (Cv=0.31) (Cv=0.67) (Cv=0.78) (Cv=0.89) (Cv=1.39) (Cv=1.67)
fLEE =0"f

Valve type 3 port 2 position

ERENEE 0.15-0.8MPa(21-114Psi)

Operating pressure

{RIETS A1 1.5MPa(215Psi)

Proof pressure

THERE -20-70%C

Temperature

AR BE

Material of body Aluminum alloy

S THE

Lubrication Not required

R EEE 5K/ ®

Max. frequency 5 cycle/sec

Pneumatic component 53-54 Valves



S#218 Air valve / 3A100,3A200,3A300 FORWARD

RS Technical data

A &B4E#aE Inner structure

456789 10 11 12 121110 987 6 5

K& NO R ltem FSNO. | &% Item

1 1kttt # Bottom cover gasket 7 0% O-ring

2 3 # Spring 8 it BEER Wear ring

3 Ji= 25 Bottom cover 9 & ZE Piston

4 [E 3k 424T Bottom cover screw 10 31544k Pilot body

5 ik Spool 11 i&2E0% Piston O-ting
6 74k Body 12 [El3k#24T Pilot screw

3A110

PT1/8

-~
-

| 2233

12,5 19
122 21

56.5

3A%3%| R~FE Dimensions
3A120
PT1/8
25

BHER ™T -g-ln:‘: h
M ez 2e33] MY i EE
P 2

N g
O = 3 g e

34.5
L
25
24
|

26.5

S#21 Air valve / 3A100,3A200,3A300 FORWARD

HARSH Technical data

3A210

L

12.5| 30
15

3A220

42

29.5

35

3A310
g PT1/8 2%
k4 L=
g | | [ 243 gg
. = .
bl old || |8 OR?
)|
Al Slli“s E = = B
20 2243 10.5
27 40
3A320
= =
= PT1/B ME
B e — ER
T gE MEESERE S T 12l
by § @ A 3 %E.
Ay {}1_..-.{ g @ J[
L ] ™ il .
A B S
] || # e & ol ||
r m i "
=, | ® i jm
: 20 0.5 :
27 40

Pneumatic component 55-56 Valves



S#E® Air valve / 4A100,4A200,4A300,4A400

FISRAS Type codes

FORWARD

1. BREREN, BT, RNRE
Structure in sliding column mode:good tightness and sensitive reaction;
2. ZNEBRHHRE=FppEIsh e TR
There are three medium functions of three—position air valves for your choice;
; C 2 3. WAMEBSERAFILTIAE;
E =4 5 Two-position air control valve with two heads has memory function;
e ol 4. NELRARKIZNI, BEEEN/N, BHSER, £AFGK
g Internal hole adopts special processing technology which has little attrition
# friction,low start pressure and long service life;
8 = 5. TEIHIEE;
e No need to add oil for lubrication;
6. TSREEMMA, TERERE,
Integrate with the manifold to save installation space.
10 20
300 30 30
PTL TR eQTILITAS 20TV
[an] [1] [10]-[06]-[ |
B S Type
4A AOZAL. AA=AISIER Air valve (5/2 5/3 way)
R4S Code
1 100 Series
2 200 Series
3 300 Series
4 400 Series
S#2A R Valve type
10 WAL E 8532 Single air control 5/2 way
20 WALE W SIZ Double air control 5/2 way
30C ZRIBEXS A FE Double air control 5/3 way closed center
30E =R BWSEPAHESE Double air control 5/3 way exhaust center
30P =B EFALE A Double air control 5/3 way pressure center
1% 0% Port size
M5 M5
06 PT1/8
08 PT1/4
10 PT3/8
& O URSF Thread type
PT
NPT NPT
G G

S#2H@ Air valve / 4A100,4A200,4A300,4A400

HARSH Technical data

AARS] EEHASH General technical data

# RS % Common technical data

IR 2R ( Z40umIEIT IR )
Fluid Air(to be filtered by 40um filter element)
E=hTIR SRR

Acting Exterior control
FAEEE 0.15-0.8MPa(21-114Psi)
Operating pressure

RIEM E 1.5MPa(215Psi)

Proof pressure

TERE ~20-70C

Temperature

AR REE

Material of body Aluminum alloy

S N

Lubrication Not required

o EE Inner structure

4A110

4567 8910

11 12

16 15 13

FENO. | &% ltem FSNO. | & Item

1 [El 3k 424T Bottom cover screw 10 51544k Pilot body

2 38 Spool spring 11 0% O-ring

3 JiK2 Bottom cover 12 [El K424 Pilot screw

4 1kt Bottom cover gasket 13 24T Pilot screw

5 74k Body 14 £3E Return seat

6 0% Spool O-ring 15 £33 Return spring
7 i Spool 16 £ A Return seat

8 it EEIR Wear ring 17 EZV3AER E clip

9 i&ZE Piston 18 iz Side cover

Pneumatic component 57-58 Valves




FORWARD S#2H@ Air valve / 4A100,4A200,4A300,4A400 FORWARD

HARSH Technical data

S#E® Air valve / 4A100,4A200,4A300,4A400

RS Technical data

4A100 EEH R EH General technical data 4A200 FEH A S H General technical data

RS Type 4A100-M5 4A130C-M5 4A110-06 4A130C-06 S Type 4A210-06 4A230C-06 4A210-08 4A230C-08

4A120-M5 4A130E-M5 4A120-06 4A130E-06 4A220-06 4A230E-06 4A220-08 4A230E-08
4A130P-M5 4A130P-06 4A230P-06 4A230P-08

Rtk HAZf HA=f HAZf HA=f; RIiBEL HAZf A= HOZf HA=f;

Position and way No. 5 port 2 position 5 port 3 position 5 port 2 position 5 port 3 position Position and way No. 5 port 2 position 5 port 3 position 5 port 2 position 5 port 3 position

BREER 5.5mm? 5.0mm? 12.0mm? 9.0mm? BREER 14mm2 12.0mm? 16.0mm2 12.0mm2

Effective sectional area (CV=0.31) (Cv=0.28) (Cv=0.67) (Cv=0.50) Effective sectional area (Cv=0.78) (Cv=0.67) (Cv=0.89) (Cv=0.67)

EEOR HE =5 =M5 HE=-H5=-1/8 EEAR HE=-HS-H5-1/8 HE=H==1/4, H==1/8

Joint pipe bore In=0ut=M5 In=0ut=1/8 Joint pipe bore In=0ut=Exhaust=1/8 In=0ut=1/4, Exhaust=1/8

o TERNER E e NE 3R woERNRER E IR/ 5K/ # 3R/

Max. frequency 5 cycle/sec 3 cycle/sec 5 cycle/sec 3 cycle/sec Max. frequency 5 cycle/sec 3 cycle/sec 5 cycle/sec 3 cycle/sec

E3 4A110-M5:85g 165g 4A110-06:85g 1659 E3 - 4A210-06:185g 3659 4A210-08:185g 3659

Weight 4A120-M5:140g 4A120-06:140g Weight 4A220-06:2859 4A220-08:285¢

R=FE Dimensions R=FE Dimensions

TS Mode] A B c D E F G WS Mode] A B € D £
4A110-M5 M5+0.8 27 14.7 0 14 212 0 4A210-06 18 18 18 22.7 0
4A110-06 1 28 14.2 1 16 20.2 3 4A210-08 18 1/4 21 21.2 3
4A120-M5 M5+0.8 27 27 0 14 335 0 4A220-06 18 18 18 37 0
4A120-06 1 28 26.5 1 16 32.5 3 4A220-08 18 1/4 21 35.5 3
4A130-M5 M5+0.8 27 425 0 14 335 0 4A230-06 18 18 18 37 0
4A130-06 1 28 415 1 16 32.5 3 4A230-08 18 1/4 21 35.5 3
4A110 4A120 4A210 4A220
2-PT1/8
q
< R e i
q 15 I |2l .a.'
‘E )
= a =3 2 |9
'—_‘}
g 1wl f _'9‘
- el w il
w " ¢h 8 m
£l 7
= 2 s 2 :
n 35 )
4A130 4A230
7] |
] ]
¥ ¥
$ T
O3
A= | || -
3 d |
2 % - & A% |
= R | ]
i o4 il
|- =% 2T
| 1
il BE: | b o
T 7
~Hi- 2 Trg

Pneumatic component 59-60 Valves




S#E® Air valve / 4A100,4A200,4A300,4A400

RS Technical data

FORWARD

4A300 FEH A S H General technical data

BEE Type 4A310-08 4A330C-08 4A310-10 4A330C-10
4A320-08 4A330E-08 4A320-10 4A330E-10
4A330P-08 4A330P-10
Rtk AT A= i kv A=
Position and way No. 5 port 2 position 5 port 3 position 5 port 2 position 5 port 3 position
FxEmiR 25.0mm? 18.0mm? 30.0mm? 18.0mm?
Effective sectional area (Cv=1.40) (Cv=1.00) (Cv=1.68) (Cv=1.00)
EEOR HE=-HE=-H5-1/4 e =H5=3/8, HHS=1/4
Joint pipe bore In=0ut=Exhaust=1/4 In=0ut=3/8,Exhaust=1/4
o TERNER > e >R 3R
Max. frequency 5 cycle/sec 3 cycle/sec 5 cycle/sec 3 cycle/sec
E3 4A310-08:2759 5059 4A310-10:275g 505g
Weight 4A320—-08:3659 4A320-10:365g
R=E Dimensions
AE Model A B C D E
4A310-08 1/4 1/4 22 29 0
4A310-10 1/4 3/8 24 28 4
4A320—-08 1/4 1/4 22 44.5 0
4A320-10 1/4 3/8 24 43.5 4
4A330—-08 1/4 1/4 22 44.5 0
4A330-10 1/4 3/8 24 43.5 4
4A310 4A320

45

N 2R
2043
243
i Lo L]

“Eped]
el - -
55,9
111
n 435 24

4A330

=
2

|
\2:A
2-04.3
2243

|
I
55.5
435 24

S#E1 Air valve / 4A100,4A200,4A300,4A400 FORWARD

HARSH Technical data

4A400 EE R RS General technical data

RS Type 4A410-15 4A420-15 4A430C-15 4A430E-15 4A430P-15
RIiBEL i kv A=

Position and way No. 5 port 2 position 5 port 3 position
EREmER 50.0mm? 30.0mm?

Effective sectional area (Cv=2.79) (Cv=1.68)
EEAR HE=HE=H5=-12

Joint pipe bore In=0ut=Exhaust=1/2

SN (SIETES 3K/ 7

Max. frequency 3 cycle/sec

E3 - 5559 6859 7359

Weight

R=FE Dimensions

4A410 4A420
29718
TE ol
| I ] |
ek ST
§ e | [
8@ 8| | R
Y | &
) =~ —1
alkll (AL »
75
.l 5
47430
26718
o
T_;IE s :
Bl (9T
| |
ot 4071 T
8 % L
aletr Hl| | w Bl
b |
'—Q‘R ] N +
wl [ sl
Al eh dy | A I
75 s
£

Pneumatic component 61-62 Valves



13\ g Plate type valve / 4M

FISRAS Type codes

M| [ 2]

[10]

-[08] -[ AC220v

4M R Plate type valve

1 100

2 200

3 300

4 400

10 B WALE Single coil double-position
20 MLMALE Double coil double—position
M5 M5

06 1/8

08 1/4

10 3/8

15 12

54 B FE Standard voltage

DC24V DC24v

AC110V JAC110V
AC220V [ AC220V
fE& A Wiring form

FORWARD

tfim 3l Standard connector

W 5|44 B Lead wire type coil

L 8 RAT 2 B With lighting connector coil
PT

BSP BSP

NPT NPT

R 3\ g Plate type valve / 4M

HARSH Technical data

FORWARD

FEH KRS General technical data

4M310-08 |4M320—08|4M310—10| 4M320-10 | 4M410-15 | 4M420-15

ES Type

4M210—06| 4M220-06 | 4M210-08 | 4M220-08

T e &R Medium

ZTBHERESS, MEFRIDE Filtered compressed air,lubricated or unlubricated

EFT T Motion pattern

AEFE S Inner guide type

RriE —frn@
Position and way No. Two—position five—way
BXEER 14mm (Cv=0.78) | 16mm (CV=0.89) 25mm (CV=1.39) 30mm (CVv=1.67) 50mm (CV=2.79)
Effective sectional area
BEOR S =HES S = H5 = 61/4 HS =S HS =S
Joint pipe bore =G1/8 Air inlet=Exhaust=G1/4 =G3/8 =G1/2

Air inlet= Air inlet= Air inlet=

Exhaust=G1/8

Exhaust=G3/8

Exhaust=G1/2

;838 Lubricate

ANEEZE Not necessary

fFAESERE

Working—pressure range 0.15-0.9MPa
BAWEN

Pressure resistance 1.2MPa
THERE

Operating temperature —5~60

B [ESEE Voltage range

—5%~+10%

#£8 8 Power consumption

DC24V: 3.0W , AC110V: 2.5VA , AC220V: 2.0VA

MR PSR F4%.IP65 / F Class.IP65
Insulation class

E4 Wiring form Wk L

e AR G 5 X /5 Cycle/Sec
Highest action frequency

A REAT [8) 0.05 second

Shortest excitation time

R Dimensions

4M220-08

4M210-08

[Teldl T

4M310-10

—i-lse S ofl-1-- | EmERr YT

4M420-15

Pneumatic component 63-64 Valves



F iR Hand-pull valve / 4H

ASRAD Type codes

@

4H | ##x# Hand-pul vaive
2 200 series
3 300 series
4 400 series
10 BIWMALE Single—head double-position
30 B3 =& Single—head three—position
M5 M5
06 1/8
08 1/4
10 3/8
15 1/2
= HIEE AR Three-position five—way reset type
L = A EHE Three—position five—way locking type

F#R i Hand-pull

HARSH Technical data

valve / 4H

4H210-06 | 4H210-08 | 4H230-08 | 4H310-08 4H310-10 4H330-10 4H410-15 4H430-15

S Type

THENR ZEBNERSSR, WBIRIDE

Medium Filtered compressed air,lubricated or unlubricated

MIETTR B350 Direct drive type

Motion pattern

BEREER L4mm (CV=0.78) | 16mm (CV=0.89) | 25mm (CV=1.39) | 30mm (CV=1.67) | 50mm (CV=2.79) | 50mm (CV=2.79) [ 50mm (CV=2.79) | 50mm (CV=2.79)

Effective sectional area

EEOe
Joint pipe bore

HE=H5= HS =S -HS-61/4 HS =HS=63/8 R =R =-HS =612
HS=61/8 Air inlet=Air outlet=Exhaust=G1/4 HS=61/4 Air inlet=Air outlet=Exhaust=G1/2
Air inlet= Air inlet=Air outlet=63/8

Air outlet= Exhaust=G1/4

Exhaust=G1/8

fERESISEE 0.15-0.9MPa
Working—pressure range
TERE —5~60° C
Operating temperature
D
i
o | -
P oy S
< 2 N
L —— e
B 4H210-06 4H230-08
Model 4H210-06 |4H230-06 | HZFHEfrAutomatic reset | 4H210-08 | 4H230-08L | H#hE fizAutomatic reset |4H310-08 | 4H310-10 | 4H410-15
A 76 95 76 95 92 92 126
B 56.5 75.5 56.5 75.5 72,5 72,5 102
o] 31.5 31.5 31.5 31.5 40 40 55.5
D 22 22 22 22 27 27 34
E 95 95 95 95 100 100 110
F 6.5 6.5 6.5 6.5 7.5 7.5 7.5
G 66.5 85.5 66.5 85.5 82.5 82.5 114
H 18 18 18 18 18 18 18
| 20 20 20 20 24 24 28
J 36 36 36 36 45 45 63
K 21 21 21 21 24 24 36
L 35 35 35 35 40 40 50
M 21 21 21 21 27 27 35
N G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G1/2
o G1/8 G1/8 G1/4 G1/4 G1/4 G3/8 G1/2
P 4.3 4.3 4.3 4.3 4.3 4.3 55
Q - - 1.5 15 - 2 -

65-66 Valves



F$i Hand-draw valve / 3L,4L

FISRAS Type codes

=]
Jo
-
3
o

635

FORWARD

3L ZHr=@F I Two-position three-way hand-draw valve
4L A @FHIR Two-position five—way hand-draw valve
A5 S Code

1 100 series

2 200 series

3 300 series

10 WALE 2 position

06 1/8

08 1/4

10 3/8

15 12

FHi ¥ Hand-draw valve / 3L4L FORWARD

HARSH Technical data

FE#H RS General technical data

RIS Type 41110-06 | 41210-08 | 41310-10 | 4L410-15 | 3L110-06 | 31210-08 | 3L310-10 | 3L410-15
TN ZEBNERSSR, WBIRIDE

Medium Filtered compressed air,lubricated or unlubricated

HETR B3R Direct drive type

Motion pattern

R £ TAIFIE Two—position five—way =3 Two—position three—way

Positon and way NO.

EEOR G1/8 G1/4 G3/8 G1/2 G1/8 G1/4 G3/8 G1/2
Joint pipe bore

ERENEE 0-1.0MPa

Working—pressure range

TERE —5~60° C

Operating temperature

R~E Dimensions

3L210-08 41.210-08
22 L]
3-G1/4” .
2 3-443 3443

{

®

635

32

o~
¥y
|‘a‘—a‘
X

_i_.

&

@

Pneumatic component 67-68 Valves



M358 Foot valve / 4F210, FV FORWARD B34 Foot valve / 4F210, FV FORWARD

FERED Type codes FHARSE Technical data

FE#H RS General technical data

WE Type 4F210-08 | 4F210-08-L | 4F210-08G | 4F210-08-LG | Fva2o |  Fvazo
THENR [E45== Compressed air
Medium
friEEK “fuh@ “fi=E ZfimE
Position and way No. Two—position five—way Two-position three-way [ Two-position five-way
BEEOR HR =S =H5=G61/4 WS =~ S -G61/4 HS -61/8
Joint pipe bore Air inlet=Air outlet=Exhaust=G1/4 Air inlet=Air outlet=G1/4 Exhaust=G1/8
MIERR Ex)a0 Direct acting
Motion patten
FERENSEE 0.15~0.9 MPa
4F210 - _ Working—pressure range
TERE 0-60C
Operating temperature

4F Z I RIBMIE IR Two-position five-way foot valve R=IE Dimensions

4F210-08
}E0 Rt Connection

08 G1/4

79

#RERY Standard ) ‘ 25
X -
L FiFBEEY With lock 5 I T }]
G B E R With guard 3 ° T in| T
LG B €1 %2 47 B AY With lock and guard \I%Q i ,g)
I \.3—
8 1 \_@j
P !
L]
B [ I'_ T —
180 | | g8 !
4F210-08-L
3
o
w (2]
[++]
[~
Fv
| « w
— <
« -
o
2 S Type |
1
FV HIBA IR Foot valve I
#% 0 R~F Connection
320 —{I=3j@ Two-position three—way

420 I —{7PYi@ Two—position four—way

Pneumatic component 69-70 Valves




FORWARD

BIE5 8 Foot valve / 4F210, FV

HARSHE Technical data

BIE5 8 Foot valve / 4F210, FV

FHARSE Technical data

FORWARD

R=1E Dimensions

R~HE Dimensions
4F210-08-G FV320
1 125
53
/ !
& @&
CEET, ; —
; Sl ?h%% 1_/€_§ _]j% b <L @ '
5 . =i | b : T'EI 2-G1/4" S—
-l (= : Tl &I I 1
i = LM 120 G1/8"
™~ 1_& Kﬁ]
245
200
170
-—T i b
_3-“-_ $6.7
=l e N
2|5 8 ‘ 8
h.
1
s I!EF' -
N
4F210-08-LG FV420
— 125
53 /
@
(PR, 8
5 2 -3, "-r: _T_.‘_"' _I_éﬁ ._] ° L
s o ':_—-}i | : : S| ;I 3-G1142 : 1
ol I e . — —
g 100 2 120 ._G1/8"
180 - - 3GuL K
245
200
170
:ﬁﬁm =
2
iv 8
— b
! k4
ile

Pneumatic component 71-72 Valves



F 41 Hand-switching valve / 4HV FORWARD F4# 1 Hand-switching valve / 4HV FORWARD

FERED Type codes FHARSE Technical data

FEH#H REH General technical data

EIE Type 4HV210-06 | 4HV210-08 |4HV230—OB | 4HV310-08 | 4HV310-10 | 4HV330-10 |4HV410—15 |4HV430—15 |4HV410—20 |4HV430—20 |
TR ZEBNERSSR, WBIRIDE

Medium Filtered compressed air,lubricated or unlubricated

AT MO, =P Two—position four—way. Three—position four—way

Position and way No.

EEAR 1/8 1/4 3/8 172 3/4
Joint pipe bore

fEAEIERE 0~1.0 MPa

Working—pressure range

RIETS 11 1.5 MPa

Proof pressure

IERE —5~60° C

Operating temperature

TYERE 50°

Operating angle

Dimensions

aHv | (2] [10]-08 - | S|

4-48F12 4455

RIS Type
HV F# i Hand-switching valve
#5HKS Code

200 series

N

N
74
60

|

N

!
1
|
|
|
|
I

w

300 series

IN

400 series

ecification code

B3I WALE Single-head double—position
B3I ={I& Single—head three—position
1% 0% Joint pipe bore

EF
mi
S
)
o

—
o

w
o

M5 M5
06 1/8
08 1/4
10 3/8
15 1/2
20 3/4
XX S Type code
B &% % Body installation
S HRZ % Panel installation

Pneumatic component 7374 Valves



#l# I Mechanical valve / FMV FORWARD #l# I Mechanical valve / FMV FORWARD

TSR ES Type codes FHARSE Technical data

FEH A S General technical data

HE Type FMV-32 | FMv-s52
THENR E4ZS Compressed air

Medium

friE = v b1
Position and way No. Two—position three—way Two—position five—way
EEOR G1/8,G1/4

Joint pipe bore

FEREHSEE 0~1.0MPa

Working—pressure range

HaEmn 16mm?(CV=0.89)

Effective section area

THERE 0~60° C

Operating temperature

R~1E Dimensions

FMV-32 FMV-52

[FMV|-[ 32]-[08-[R]-| | = L
S,

] [mim' )
B S Type | o — »
FMV #1418 Mechanical valve N
N Ee
32 ZfI=3& Two-position three-way E : HG1/4" I 0
52 ZfIF® Two-position five—way L s | ke L 3.5 il
06 1/8
08 1/4
}5 4173 Button type

EAH Basic type
R SR E Roller type
B 1% F A4 Selective knob
LB HBYHESA Strengthened knob
PB KB #$%4A Large round button
PP SEEAES Plat round button
PPL MEEIE$A Convex round button
EB R4 With lock button

PT
BSP BSP
NPT NPT

Pneumatic component 7576 Valves



¥ mY iRl One-way flow control valve / GR
FS4AS Type codes

ype IS

GR

1 953% % One-way flow control valve

Metric thread M3

BEWREATETIERE.

One-way flow control valve is used for adjusting gas flow rate.

L4

Metric thread M5

Pipe thread G1/8

Pipe thread G1/4

Pipe thread G3/8

Pipe thread G1/2

Pipe thread G3/4

FORWARD

B R Y% One-way flow control valve / GR FORWARD
FARSH Technical data

FERAREH General technical data

RS Type GR-1/8 | GR-1/4 | GR-3/8 | GR-1/2 |
T &/ Medium EFEZS Compressed air
Z #7575 Mounting type WBIL 2% FHZE Through—hole,Front panel mounting
& 4% R~F Connection G1/8 G1/4 (G3/8 G1/2
RETERE 217 1/min 780 1/min 1150 V/min 2760 1/min
Standard nominal flow rate
T £} Working pressure 1~16bar
B ESEEl Temperature range 0~60°C
#%} Materials information | w4k HEe. B

Housing Wrought aluminium alloy,Brass

B TREER

Seal NBR

R Dimensions
2-F
w
NSRS
T &
AES Type A B C D E F G H I J K L
GR-1/8 22 32 1/8 18 22 4.3 46.8 523 | M6x0.5 [M12x0.75| 10 16
GR-1/4 26 36 1/4 23 27 4.3 50.8 56.3 M6x0.5 [M12x0.75| 13.5 18
GR-3/8 35 50 3/8 32 37 5.3 65 74 M8x0.75 [M16x1.0| 17.5 28
GR-1/2 35 50 12 32 37 5.3 65 74 M8x0.75 [M16x1.0| 17.5 28

Pneumatic component 77-78 Valves



¥R S EL Standard cylinder 1ISO6431 / ODNC

Type codes

BERT

EH A Ih#E Basic function

ODNC I FRAESEL Standard Cylinder 1IS06431

FORWARD

IR OREMNRE, FURRTREIHTNERN,
SEER LT WHAERAIR, ERNFE IR,
HIfE LA T BT R R, TRRENS,

Attached with adjustable buffer at both ends,and mounted stroke
switch for detecting the conversion position.

Piston rod with/without magenetic ring,sensor-position is optional
if necessary or unnecessary.

Stroke switch could mount on the cylinder,parrel directly,no need
mounting bracket.

[oDNC]-[32]-[100]-[PPV] - [A]-

£I1Z Bore

|

1T#2 Stroke

£ Cushioning

P AE—i EG AN TTELE M8 Flexible cushioning
rings/pads at both ends
PPV Wik 25 o145 2% Pneumatic cushioning,

adjustable at both ends

SLE R

Position sensing

FRHEALE BN Without position sensing

A

HRIE RGN Via proximity sensor

k&3B! Variants

¥R S EL Standard cylinder 1ISO6431 / ODNC

HARSH Technical data

FORWARD

FEH RS H General technical data

#I12 Bore (mm) @ 32 | 40 | 50 | 63 | 80 | 100
IHNR ZISTENES
Medium Filtered Air
HIERR W)
Action Form Double Action
i E SR & S 15 bar
Compression Pressure
& LIEES 10 bar
Max. Working Pressure
SETEES 1 bar
Min. Working Pressure
Zp SEM (FE)
Buffer Air Buffer (Standard)
HERE 5-60° C
Condition Temperature
IR 50-500mm/s
Operation Speed
B %
Lubricate Not Necessary +1.0
EERT 1/8” 1/4” 3/8” 1/2”
Connection
TRERTIE 25 40 50 80 100 125 160 200 250 320 400 500
Standard Stroke
ZiTiE 20 22 32
Buffer Stroke
Pneumatic component 79-80 Standard cylinder




¥5:f S &L Standard cylinder 1ISO6431 / ODNC

FARS# Technical data

H 7 R~+ & Basic version

E1 E3+
E4 E7 )
B NI i L3 E2
E6 wi L1
swi | |
I | !
[ T—T e e)
o 224 l \// \\J
TRl T © Olllz.. 2
RIS Ty ge ® || LS
o )
F OO
2 |l E8
BT ARFXHM Sw2 F4
#I1% Bore(mm) @ E1 [E2 |E3+ |E4 [E5 |E6 E7 E8 |F1 @|F2 F3 @ F4 L1 |L2 L3 |L4 |L5 KK WL [SWI | SW2
32 22 |45 120 {26 |18 |10 |63 25 (30 G1/8 |12 M6 32513 4 6 5 M10*1.25 | 16 |10 |6
40 24 | 54 135 (30 |22 11 |77 30 (35 G1/4 |16 M6 |38 |4 4 8 6 M12*1.25 | 16 |14 |6
50 32 |64 143 |37 |28 12 |78 30 |40 G1/4 |20 M8 [46.5 (5 4 10 |9 M16%1.5 17 (17 |8
63 32 |75 158 (37 |29 15 |87 36 |45 G3/8 |20 M8 [56.5(7 4 125110 | M16*1.5 17 (17 |8
80 40 |93 174 (46 |35 16 |95 36 |45 G3/8 |25 M10 |72 |11 |4 125|8 M20*1.5 17 |22 6
100 40 1110|189 [51 |38 19 | 100 |40 [55 G1/2 |25 M10 |89 |12 |4 12 |10 | M20*1.5 17 |22 6
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
&5 NO. 2R Ttem F5 NO. | &%k Item FS NO. 2R Ttem
1 926 Rod nut 8 $83%E Barrel 15 JE2 Back cover
2 JEZEAF Piston rod 9 JEZE Pilot body 16 EEREIRAE Connecting bolt
3 Bh Rod packing 10 JHEFFOERE Rod 0-ring
4 JBENFTE Bushing 11 THETEE Piston seal
5 B2 Front cover 12 ftsk Magnet
6 22 Cushion 13 IR Wearing
7 EEE0FLE 0-ring 14 WA Screw

¥5:f S &L Standard cylinder 1ISO6431 / ODNC

HARSH Technical data

S2 MW iiEZEAF Through piston rod

E9++
E3+
‘ _
-
4112 Bore(mm) @ £3 E9
32 120 146
40 135 165
50 143 180
63 158 195
80 174 220
100 189 240
K2 i&ZE4F _E < 5ME 4L Extended male piston rod thread K3 i&ZEFF_E A4 Female piston rod thread
|
|
| ] — |
PR | -+
I
w
Al El X !
AF 4‘
E4
K5 i&ZEHF_EHEFRIBAL Special piston rod thread K8 <& ZE 4 Extended piston rod
|
|
{ iR | TSR ||
4 I 4
|
I
A2
E4+A2
#11% Bore(mm) @ Al A2 El E4 AF KF
o O
Max. Max. FLAIZLL Basic thread | 45ZRIRLL Special thread
32 35 500 22 26 M10 x 1.25 M10 12 M6
40 35 500 24 30 M12 x 1.25 M12 12 M8
50 70 500 32 37 M16 x 1.5 M16 16 M10
63 70 500 32 37 M16 x 1.5 M16 16 M10
80 70 500 40 46 M20 x 1.5 M20 20 M12
100 70 500 40 51 M20 x 1.5 M20 20 M12

81-82 Standard cylinder



¥5:f S &L Standard cylinder 1ISO6431 / ODNC

B Accessories

S
\ AT T

2 0Q %,

¥5:f S &L Standard cylinder 1ISO6431 / ODNC

Bt Accessories

AT

I I T N
o o Tm S S
AC+1T |
AA+TR _____j:i:f___
M 4-2AP H i
4l %
d}» G} #I12 Bore(mm) @ S T DC DJ DE DQ S Type
32 45 325 22 10 10 26 CA-32
40 52 38 25 11 12 28 CA-40
50 65 46.5 27 13 12 32 CA-50
Bore(mm) @ A AC AD AE AF AG A AP Type 63 76 56.5 32 16 16 40 CA-63
32 158 142 8 48 32 24 32 7 LB-32 80 94 72 36 16 16 50 CA-80
40 179 161 9 53 36 28 36 9 LB-40 100 112 89 41 20 20 60 CA-100
50 190 170 10 63 45 3?2 45 9 LB-50 125 140 110 50 25 25 70 CA-125
63 209 185 12 73 50 32 50 9 LB-63
80 248 210 19 98 63 41 63 12 LB-80
as
100 258 220 19 115 75 41 71 14 LB-100 ar
125 290 250 20 140 90 45 90 16 LB-125 a
CP£0.1
L
I
@ || O
T— ‘ —T PAL
i PBL
© | ) = I s T s O
o _ o |
] © @ O ]
8- - - -T-12 \
rar)) ¥ ]
& ©r ol
m | AABP AN\
Y ‘ Eaj gg {I4% Bore(mm) @ S T CT cP cc (o] CE PA1 PB1 S Type
BD
- e 32 45 32.5 45 2% 22 10 10 53 16.5 (B-32
40 52 38 52 28 25 11 12 60 53.5 CB-40
50 65 46.5 60 32 27 13 12 68 61.5 CB-50
o 63 76 56.5 70 40 32 16 16 78 71.5 (B-63
#1412 Bore(mm) @ BA BB BC BD BE BF BH AJ AK BP T S Type
80 94 72 90 50 36 46 16 100 91.5 CB-80
32 30.3 10 45 32 80 64 6.5 10.5 6.5 7 325 | FAFB-32
100 112 89 110 60 41 20 20 120 111.5 CB-100
40 35.3 10 52 36 90 72 6.5 10.5 6.5 9 38 FA/FB-40
125 114 110 120 70 50 25 25 130 1215 (B-125
50 40.3 12 65 45 110 90 8.5 13.5 8.5 9 465 | FAFB-50
63 45.3 12 76 50 120 100 8.5 13.5 8.5 9 56.5 FA/FB-63
80 45.3 16 94 63 150 126 10.5 16.5 10.5 12 72 FA/FB-80
100 55.3 16 112 75 175 150 10.5 16.5 10.5 14 89 FA/FB-100
125 60.3 20 140 90 224 180 15 19 12.5 16 110 | FAFB-125

83-84 Standard cylinder



¥5:f S &L Standard cylinder / SU

FISRAS Type codes

& A& Th§E Basic function

-|100]-| s

2]

u #RESEL Standard Cylinder
uD Wi E 5% Double rod type
uJ WS 5472 AR Adjustable stroke type

(92}

(92}

[
m
w
o
®

1772 Stroke

=

[ii B &%illl Position sensing

REALE BN Without magnet
I HERLE BRI With magnet
iF#47%2 Adjustable stroke

|

w

FORWARD

LB 142 Foot base

FA/FB BiI/fE3%= Front / Rear flange
CA B EHI Single earring

CcB ME K Double earring

¥5: S 5L Standard cylinder / SU

HARSH Technical data

FORWARD

FE#H KRS General technical data

%142 Bore (mm) @ 32 | 40 | 50 | 63 | 80 | 100
THNBR ZFIENES

Medium Filtered Air

;MERR f=to)Lil

Action Form Double acting type

ERENIER 1~9 bar

Pressure range

R E 15 bar

Proof pressure

HERE —5~70° C

Condition Temperature

AR oI B A

Cushion type Variable cushion

FEREE 50-800mm/s

Operation Speed

R 1/8” 1/4” 3/8” 1/2”
Connection

Pneumatic component 85-86 Standard cylinder



RS EL Standard cylinder / SU ¥5 S 5L Standard cylinder / SU

RS Technical data FHARSE Technical data

E 7 R ~t B Basic version SUD M ii&ZEHF Through piston rod

A+17#E (A+Stroke)
os B C+17#¢ (C+Stroke)

A1+17f¢ (A1+Stroke)
C+47#¢ (C+Stroke) B+17#¢ (B+Stroke)

B e N et

N
:
R
|
AN
Y|
|
)
)
RAPI
|
=

2z Y ——— L
w N~ 1
4THIIE
20l
1% Bore(mm) @ A B |C D E F |G H I J (K L M N 0 P Q R[S T |V W #1172 Bore(mm) @ Al B ©
32 140 47 |93 28 | 32 | 15 (27.5) 22 | 17 | 6 |MIOX1.25(M6x1.0 (9.5 |13.7|1/8|35|75|7 |45 [33 12|10 32 187 47 93
40 1421 49 |93 32 | 34| 15 (275 24 | 17 | 7 |MI2x1.25(M6x1.0 (9.5 |13.5|1/4|¢6 829 |5 |37 (16|14 40 191 49 93
50 150 | 57 |93 38 | 42| 15 (27.5) 32 | 23 | 8 |Ml6bx1.5 [M6x1.0 (9.5 |135|1/4(85 (829 |62 |47 |20 |17 50 207 57 93
63 153 57 |96 38 | 42| 15 (27.5] 32 | 23 | 8 |Ml6x1.5 [M8Xx1.25(9.5 |13.5|3/8 |7 8.2 85|75 |5 |20 |17 63 210 57 9
80 1821 75 | 107 | 47 | 54 | 21 |33 40 | 26 | 10 [M20x1.5 [M10x1.5(11.5/16.5|3/8 |10 [9.5| 14 |94 | 70 [ 25 | 22 80 257 75 107
100 188| 75 | 113| 47 | 54 | 21 |33 40 | 26 | 10 [M20x1.5 [M10x1.5(11.5{16.5|1/2| 11 |9.5| 14 |112| 84 |25 | 22 100 263 75 113

SUJ X472 RIHEL Adjustable stroke type

A2+HTREX 2+ T TR (A2+Stroke x 2+Adjustable stroke)
B C+47R (C+Stroke) TR Z+ TR (Z+Ad jlistable stroke)

N J
S Ty E——— [
— 1o ©
He S R R R LA
| © D
= % 4 - - | [
B T A B

FSNO. | &R ltem FS NO. | &R Item FS NO. | &7Rltem #I1% Bore(mm) @ A2 B ¢ J z
1 #2FF Rod nut 8 EZEAFOZE Rod O-ring 15 ZZ M BHROZLE O-ring 32 182 47 93 6 21
2 THEFF Piston rod 9 $3% Barrel 16 28 iAEI2 £ Cushion needle 40 185 49 93 7 21
3 B4 Rod packing 10 EEHEE Piston seal 17 J5 3 Back cover 50 1% 57 93 8 23
4 &%l Bushing 11 F&ZE Pilot body 18 E#£12# Connecting bolt 63 199 57 9% 8 23
5 A2 Front cover 12 it BEZR Wearing 80 242 75 107 10 29
6 22 % Cushion 13 R/ Fi2#2 Screw 100 248 75 113 10 29
7 EEEORUME O-ring 14 M1544 B Locker sheet

87-88 Standard cylinder



AR RS EL MINI cylinder stainless steel / DSNU,IS06432 FORWARD AR RS EL MINI cylinder stainless steel / DSNU,IS06432 FORWARD

FERED Type codes FHARSE Technical data

FE#H RS General technical data

4I4% Bore (mm) @ 8 |1o | 12 |16 | 20 | 25 | 32 | 40
ITHENMR ZARNERETS, BERKDE
Medium Filtered compressed air,lubricated or unlubricated
MERR S, BEhEHE Hh5IAR
Action Form Double acting type. Single acting—push type. Single acting—pull type
ARIUERY 77 15 bar
Compression Pressure
FRENSERE =il 0.5~7 bar
Max. Operating Pressure Double—acting type
PR 2~7 bar
Single—acting type
ERE —5-70° C
Condition Temperature
FERERESEE 50~750 mm/s

Operation Speed Range

SEAQ M5*0.8 1/8” 1/4”
Pneumatic Connection

| DSNU

1
N
o

1
[0}
o

- PPV

2
g

BS Type

DSNU/DSN | X {%&H Double-acting
ESNU / ESN I #{EF Single-acting
HL{Z Bore

17%2 Stroke

|

23 Cushioning

P EE— BB TIEZ M3 Flexible cushioning rings/plates
at both ends

PPV Mir 2 E o AL H8% Pneumatic cushioning adjustable at
both ends
AR BN Without magnet

A #ALE R With magnet

CA ZREA! Pivot type

U ZMm#S B Perpendicular 90°
HEBES A Axial air-in

CM [EE % Round-end type

Pneumatic componen'r 89-90  MINI cylinder stainless steel



ABME{RSEL MINI cylinder stainless steel / DSNU,IS06432 A ERSEL MINI cylinder stainless steel / DSNU,IS06432

HARS# Technical data BARSH Technical data
E 7k R~ E Basic version S2 MW iiEZEAF Through piston rod
ZM++
ZJ)+ BF
ZJ+
L2+
AM WF PL PL - i i
f— I
KV BF EE inim —AM—N— 11 | | | ——
EwW VD VD -
‘ MM )
— \ o
v, M 1 7? i e I qh U K2 i&ZEHF I SMELL Extended male piston rod thread K6 i&ZEFT 4555 SMRSL Shortened male piston rod thread
— — |- - B — —_— i+ -—- - - D
< i o
= | m ~
g Yl || 2 s
=1 / J - -
Y A N
G G > ‘ X | |
m -t -/
KW ——-LL-—f A1 AM
XC+ A3
AM
K3 & ZE T AUE4L Female piston rod thread K5 455k iE ZE 24 Special piston rod thread
#1172 Bore(mm) @ AM B BE BF CD D D4 EE EW G KK KV
WF
8 12 12 M12*1.25 12 4 15 9.3 M5 8 10 M4 19
I
10 113 i~
12 16 16 M16%1.5 17 6 20 13.3 12 M6 24 —
16 173 Aq
20 20 22 M22*1.5 20 8 27 21.3 G1/8 16 16 M8 32 T4
AF
25 22 22 26.5 M10%1.25
K8 fin<iEZE 4T Extended piston rod
#1#% Bore(mm) @ Kw L L2 MM PL TO VD WF XC Ya|
8 6 6 46 4 6 18 2 16 64 62
-] M
10 ™V T —
¢
12 8 9 50 6 23 22 75 72 O
1 2 7
6 56 8 8 A2
20 11 12 68 8 8.2 31 24 9% % WF+A2
25 69.5 10 28 104 97.2
(%) Al A2 A3 AM AF KF T4 WF M
BEAZEL FFRRIREL MQ MA MH
[mm] Basic thread Special thread
8 - - - - 59.6 61.5
— 15 50 12 M4 16 62 78.4
10 - - - - 59.1 61.8
4
12 - - - - 72 69.7 72 94
— 16 M6 22
16 - - - - 78 75.7 77.8 100
100
20 25 20 M4 M8 - 2 24 92 0.5 915 | 116
8 12
25 35 22 M6 M10*1.25 M10 2.6 28 97.5 96.5 97.2 125.5

91-92  MINI cylinder stainless steel



(A& € R{RKEL MINI cylinder aluminum barrel / MAL

FISRAS Type codes

&S Type

MAL

MAL £ 5HE Mini cylinder double acting
MSAL BE)IRH A Single acting—push type
MTAL B8 N2 Single acting—pull type

CA ZEER Pivot type
CM B E % Round-end type
u FEE Flat-end type

F11Z Bore

1772 Stroke

M A Magnet

FORWARD

ARH#A Without magnet
S F®4A With magnet
ElE& 3 Mounting type

(A& € E{RSEL MINI cylinder aluminum barrel / MAL

HARSH Technical data

FORWARD

FEHASH General technical data

#I1Z Bore (mm) @

20 | 25 | 32 | 40

ITHENMR ZARNERETS, BERKDE

Medium Filtered compressed air,lubricated or unlubricated

;IER MAL: E50A Double acting type; HE Others. BE)A! Single acting
Action Form

EEERR EHAF Basic LB FA  SDB

Mounting type

RIET E /1 15 bar

Compression Pressure

ERENEE MAL: 1-9 bar; HEZZFI Others: 2-9 bar

Max. Operating Pressure

IERE —5~70° C

Condition Temperature

{5 A ESEE MAL: 30~800 mm/s; EE#% Others: 50~800 mm/s

Operation Speed Range

BEEAR 1/8 1/4
Connection

Pneumatic componen'r 93-94  MINI cylinder aluminum barrel



(A& £ F{RKEL MINI cylinder aluminum barrel / MAL (RS € FE{RSEL MINI cylinder aluminum barrel / MAL

FARS# Technical data HARSHL Technical data
CA: Pivot type
Aviiti
s ok > 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
e e 5 s s 7
- e = r - \ - -
] T I \ q \
I T Il Il T [l | |
p— R [ 3 ‘ ‘
D w——
i e | A a it T
e | | & —
- — T ] 4 J = - SR | 7 s I |
w/ > . NI
AL+iTfE
B CH+iTfE D1
f v o . o
H M 612 | | 2% ‘_ﬂ
= T T
i 1
M N /_-\ B2 N0, | B Item B2 N0 | R Item B2 N0. | &FR Item
“‘[ Wi TN _/ 1 $28 Rod nut 7 EEX0RIE 0-ring 13 8% Barrel
—/ —
w/ > 2 JEZEFF Piston rod 8 By F Bumper 14 i i Bumper
3 BIEEZE B Rod packing 9 TEERTEE Piston seal 15 JE#4E3) Back washer
4 BIERE Front cover nut 10 JEZEATOEYE Rod 0-ring 16 ANFAEE Screw
5 Emf& Bushing 11 J&3E Piston 17 Ja# Back cover
i 6 Hiz Front cover 12 ffif B3R Wearing
B CHiTH
. . o o
H M G2 | | 2% ‘ﬂ
= T T
Il T [ Il T [
— I [] ] I
—/
w >
£112 Bore(mm) @ A Al [A2 |B [C [D [DLfE [F |G |H |I J K L MIP |Q |R |R1|S (U v W [X AX | AY
20 131122 (110(40(70|21|12|28|12|16|20|12 |6 |M8x1.25 |M22x1.5|7 (8 |16|19|10(12|29 |8 |6 |[1/8]33]29
25 135128 [114(44170 (211430 |14])16|22|17 |6 |M10x1.25|M22x1.5|7 (8 |16]|19 |12 (12|34 |10|8 |[1/8]33]29
32 141128 [114(44170 (271430 |14)16|22|17 |6 |M10x1.25|M24x2.0| 8 [10|16|25 |12 |15|39.5|12| 10| 1/8|37 |32
40 165|152 (138 (4692 [ 271432 | 14|22 | 24|17 |7 |M12x1.25|M30%x2.0| 9 [12]20 |25 [12|15|49.5| 16| 14| 1/4|47 |41

95-96  MINI cylinder aluminum barrel



(A& £ F{RSEL MINI cylinder aluminum barrel / MSAL (RS € F{RSEL MINI cylinder aluminum barrel / MTAL

FARS# Technical data HASH Technical data
CA: Pivot type CA: Pivot type
A+{TH A+TFEX2
B C+iTHE D B+iTFL C+iTHE D
E F G G S AY E+i7f2 F G G S
H M 2X 62 P 1 H M 62 2x P
J ] i l " J ‘w [ I i
7 \ ?TU [ w"fﬂ \
— [ i — [ 5 1
- . . o T ]
W > w
CM: Round-end type CM: Round-end type
AL+THE
B C+iTHE D1 AL+ %2
A € - s s 1 B+iif CHiife D1
1 W M 2 o2 Exirf 3 s G R1
] T ] mm e |
= \ I g - T /)
N uTu ] "—T” !
[} [ ] [
\ — /“\ — i /\
5 J S SER EXF )
W > W
U: Flat-end type U: Flat-end type
A2+ A+iifEx2
B C+i7#i +17 F +i7
AY E N F G G E*“«f F G : G
1 H M 2| G2 H M G2 | 2x
) (T ‘ mm s - T -
(. ‘ =T [ T 1 ‘
\ “T” \\Tn
\ — [ — [
) IRNRE 555 01555 S 1
/ —/
W > W
A Al A2 € A AL A2 €
4742 Bore(mm) @ 0~50 |51~100{0~50 [51~100|0~50 |[51~100|8 0~50 |51~100| D D1 £ F G H 472 Bore(nm) @ 0~25 | 26~50{51~75|76~100 | 0~25 |26~50 |51~75|76~100 | 0~25 | 26~50|51~75| 76~100{ B | 0~25 | 26~50|51~75|76~100
20 131 (156 |12z |17 110 13s |40 |70 s 21 12 | |12 |16 | 20 156 156 [171 |181  [137 |147 |162 [172 |125 |135 [150 |160 |40 |es |95 [110 |120
2 135|160 |12 |53 |11 |13 |as |0 |es 21 VA IR BV BT ) 25 150 {160 [175 |15 |143 |153 |1e8 |178  |129 |139 |154 |164 |44 |es |95 [110 |120
32 11 |1 |1ze |iss 114 |1z |as |00 e 27 e 3 156 |166 |185 |196 |143 |153 [173 [183 |129 |139 [150 [169 |44 |es |05 [115 |15
20 165 |10 |15 |177 | 138 |16z |46 | 17 | 27 I 20 180 |190 |210 |220  |167 |177 |197 |207 | 153 |163 |183 |193 |46 | 107 |117 |137 |147
12
LU el 2 I J_ K L P | | | L 1 I 72 Bore(nm) @ o |oi|e [F e |0 [1 |0 [« L wole fo R O{RU[s Ju v [w [« [ax |ar
2 12 16 |Mex1.s [Mexis |7 |8 R R R R o A R R 20 21 |12 |28 |12 |16 |20 [12 |6 |mMex125 |meex15 |7 |8 |16 |19 |10 |12 [20 |8 |6 |18 ]33 |29
» 1716 |MoxL.Z JHe2x1s 7|8 A A A R 8@ 25 21 |14 30 |14 |16 |22 [17 |6 |mMiox1.25 |meex15 |7 |8 |16 |19 |12 |12 |38 |10 |8 |18 |33 |29
b 1716 | MI0XT.25 | Hehx2.0 ] 8 B I L R R e IR R I ST 2 2 27 |14 |30 {14 |16 |22 [17 |6 |mMiox1.25 |meax20 |8 |10 |16 |25 |12 |15 [205]12 |10 |18 |37 |32
40 177 | M2 | H30x20 ]9 N N R e S O R A A 40 27 |1a [32 |14 |22 |22 [17 |7 [ miex125 | m30x20 |9 |12 |20 |25 |12 |15 |495] 16 | 14 |1/4 |47 |41

97-98  MINI cylinder aluminum barrel



(A& € F{RSKEL MINI cylinder aluminum barrel / MALD (A& € F{RKEL MINI cylinder aluminum barrel / MALJ

HARZH Technical data HARZE Technical data
MALD 4% Double rod type MALJ S 1TFZRIAZY Adjustable stroke type
A+{7HEX2 ( A+Stroke x 2) AL+TFE X2+l TFE ( AL+Stroke x 2+Adjustable stroke )
B C+{7#¢ ( C+Stroke ) B+17#¢ ( B+Stroke ) B C+47f¢ ( C+Stroke ) ATRE Z4 TR 3

( Stroke ) ( Z+Adjustable Stroke )

T T
| o N b
|| [
— I| I I Il — — QK/—’
AR~ B R o _@i___ 1 B LV N | I B NVZ4 A |
Y | | -

_J \_J — ( —
&4 Bore(mm) @ A B c 112 Bore(mm) @ A B c J Z
20 150 40 70 20 147 40 70 6 19
25 158 44 70 25 155 44 70 6 21
32 158 44 70 32 155 44 70 6 21
40 184 46 9 40 180 46 92 7 21

99-100 MINI cylinder aluminum barrel



%8S 5 Compact cylinder / SDA,SSA,STA FORWARD %855 Compact cylinder / SDA,SSA,STA FORWARD

FERES Type codes FHARSE Technical data

FEH A SH General technical data

4% Bore (mm) o 12 |16 |20 |25 |3 |40 |50 |63 |8 | 100
THNR ZKWRNERZS, WBIADE

Medium Filtered compressed air,lubricated or unlubricated

EFER S

Action Form Double Action

ERRHI BEh5I AL
Single acting—push type

RIERS & 1 15 bar
Pressure
fEREERE g 1~9 bar
Operating Pressure | Double acting
SR 2~9 bar
Single acting
B B
Cushion type Bumper
TR E —5~70° C
Condition Temperature
P gz 30-500mm/s 30-350mm/s 30-250mm/s
Operation Speed Double acting
| SDA |- S |-|20 |-| 40 |- pahm 100-500mm/s -
Single acting
EFERST M5%0.8 1/8” 1/4” 3/8”
= Connection
SDA S #7% Double—acting
SSA B YA Single acting—push type
STA #33| N2 Single acting-pull type
S iR With magnet
AHH#EA Without magnet

£11% Bore

{7%2 Stroke

5F& Rod type

RERLL Female thread
SMELL Male thread

N X7 No thread

Pneumatic component 101-102 Compact cylinder



L& RIS Compact cylinder / SDA,SSA,STA &R S Compact cylinder / SDA,SSA,STA

FARS# Technical data HASH Technical data
@ 12~16 4172 Boretnm) @ SDA SDAS N1 N2
AR A B c A B c D E|F |k LM [s=5 [s55 [s=5 [5>5
B C+AT R 12 22 5 17 32 5 27 - 6 |4 |M3x0.5 |10.2]2.8 (63 6.3
S P3 P3 16 24 55 185 34 55 285 - 6 |4 [M3x05 |11 2873 7.3
T1 P4 P4
20 25 55 19.5 35 5.5 29.5 36 |8 |4 |Max07 |15 |28 |75 7.3
E
M = 11 5 27 6 21 37 6 31 42 |10 |4 |M5%x08 |17 2.8 8 8
32 31.5 7 24.5 41.5 7 345 50 |12 |4 |Mex1.0 |22 |2.8 |9 9
ﬂ%J - - 40 33 7 26 43 7 36 58.5 [12 [ 4 |M8x1.25 [28 |2.8 10 10
[se]
> Zl 50 37 9 28 47 9 38 71.5 [15 [ 5 |M10x1.5 [38 |[2.8 [10.5 10.5
KAE /69 \\Z
W 63 41 9 32 51 9 42 845 [15 [ 5 |M10x1.5 (40 |[2.8 (95 |12 |95 |11
2Pl 20 Ni Ni 80 52 11 4 62 11 51 104 |20 |6 |M14x15 |45 |4 [11.5[145|115]145
100 63 12 51 73 12 61 124 |20 |7 |M18x1.5 |55 |4 |16 |205|16 |[20.5
20~100 g
2 &% Bore(mm) @ N3 |0 Pl P3 (P4 |R IS 11 |T2 |v |w |v
5 A+irEE 12 6 | M5x0.8 | P, @6.54FM5x 0.8, EILG4.2 1245 |- |25 |162|23 |6 |5 |-
B C+1He
S R = P3 P3 16 6.5 | M5x0.8 | P, @6.5825FM5% 0.8, &I 94.2 12|45 |- |29 |198]28 |6 |5 |-
TL M P4 P4 3
|P4_ P4 20 - M5% 0.8 | F{: D6.5825FM5% 0.8, B 24.2 14045 |2 |34 |24 |- |8 |6 |10
25 - M5x 0.8 | Fl: @8.2\RFFM6x 1.0, BFL 4.6 15|55 |2 |40 |28 |- |10 |8 |10
32 - 1/8 . @8.2427FM6x 1.0, ®F 4.6 16 (55 [6 |44 |34 - |12 [ 10 [15
40 - 1/8 . D108BZFM8x 1.25, ®FL 6.5 20 (75 |65 |52 |40 |- |16 | 14 |16
» = = ] L 9 é(}é 50 - 1/4 . @11BFNM8X 1.25, BIL26.5 25087 95 |62 |48 |- |20 |17 |20
Q ]
63 - 1/4 . D11RFMEx 1.25, BFL26.5 25187 (95|75 |60 |- |20 |17 |20
80 - 3/8 . D14825FM12x1.75, BFL29.2 25 [105[10 (94 |74 |- |25 |22 |26
W
- - 100 - 3/8 M. ©17.588FM14%2.0, BIL211.3 30 [13 |10 |114f90 |- |32 |27 |26
2-0
N1 N2
4n2F R~F Male thread %172 Bore(mm) @ | B E [F|G [H |J [K L M W
12 17 |16|4 |1 |10|4 |M5%0.8 |10.2 |28 |5
B (B+ M st i) B+Pull type stroke
E E(E+MarRiTH) £+Pull type stroke 16 175[16 |4 |15/ 104 [M5x08 |11 |28 |5
FF+MARHITE) FrPull type stroke 20 205(19]4]1.5/13]5 |Mex10 |15 |28 |6
H =
=g I-F 25 23 |21]4]2 [15]6 [MBx1.25 |17 |28 |8
—— 32 25 22143 [15]6 [Miox1.25|22 2.8 |10
| S|
b .| 40 3% |32 |4]3 |25]8 |M14x15 |28 |28 |14
7 A ©
;L‘t‘- =1 50 37 |33 |5]4 |25|11|Mi8x15 |38 |28 |17
. EE— |
Wit = i 63 37 |33 (5|4 |25|11|Mi8x15 |40 |28 |17
2-Sides ﬁmﬁl _,r 80 44 1396 |5 |30]13|Me2x1.5 |45 |4 |22
.= 100 50 [45(7 |5 |35|13|Meex15 |55 |4 |27

103-104 Compact cylinder



L& RIS Compact cylinder / SDA,SSA,STA L& RIS Compact cylinder / SDA,SSA,STA

BARSE Technical data HASE Technical data
212~16 ?12~16
AT AL{TFIX2
B C+TH B+17 74 CH+17 7
s s P3 P3
LE T1 e P4l
FHii
M - - |
“ o2 ] - . %
) g b @
20 N1 20 N1
@ 20~100 @20~100
b AT A+1FE 2
; - B CHiFE D B+i7FE C+ITHE
F P3 P3 S R it P3 P3
T M P P4 LS M P4 P4

w _ B w _ _
2-0 N1 N1 2-0
4-P1 KIKE
SSA SSAS STA STAS

112 Bore(mm) @ A ¢ A ¢ &11% Bore(mm) @ A ¢ A ¢

S<10 |S>10 (B S<10 [S>10 |S<10 [S>10 |8B S<10 |S>10 (D E |F [K L M S<10 |S>10 B S<10 [S>10 |S=<10 |S>10 B S<10 |S>10 |D E |F|K L M
12 32 42 5 27 37 42 52 5 37 47 - 6 [4 [M3x05 [10.2(28 12 32 42 5 27 37 42 52 5 37 47 - 6 [4 [M3x0.5 [10.2]2.8
16 34 44 5.5 28.5 38.5 44 54 5.5 38.5 48.5 - 6 [4 [M3x05 [11 (28 16 34 44 5.5 28.5 38.5 44 54 5.5 38.5 48.5 - 6 [4 [M3x0.5 |11 |2.8
20 35 45 5.5 29.5 39.5 45 55 5.5 39.5 49.5 36 |8 [4 [M4Ax0.7 [15 |28 20 35 45 5.5 29.5 39.5 45 55 5.5 39.5 49.5 36 |8 |4 |M4x0.7 |15 (2.8
25 37 47 6 31 41 47 67 6 41 51 42 (10 |4 | M5%0.8 |17 2.8 25 37 47 6 31 41 47 67 6 41 51 42 (104 |M5x0.8 |17 [2.8
32 41.5 51.5 7 34.5 44.5 51.5 61.5 7 44.5 54.5 50 |12 |4 [M6X1.0 |22 2.8 32 41.5 51.5 7 34.5 44.5 51.5 61.5 7 44.5 54.5 50 124 |Mex1.0 [22 |28
40 43 53 7 36 46 53 63 7 46 56 58512 (4 [M8X1.25( 28 2.8 40 43 53 7 36 46 53 63 7 46 56 58.5(12 (4 |M8x1.25(28 |2.8
{iI4% Bore(mm) @ N1 [N3 [0 P1 P3 [P4 [R [S [T1 [T2 |V [W Y 112 Bore(mm) @ N1 N3 0 P1 P3 [ P4 [ R S |71 T2 |V | W Y
12 6.3[6 |M5x0.8| Ffl: @6.5MRFM5x 0.8, BFL24.2 12 145]- |25(16.2 (23|16 |5 - 12 6.3 6 M5x%0.8 . ©6.5\MRZFM5x 0.8, i@FL T4.2 12 145 — | 25 (162 23 [ 6 |5 -
16 7.3| 6.5 [ M5%x0.8 | Wl D6.5\RZFM5x 0.8, &FL24.2 12 145]- 129(19.8 (28 |6 |5 - 16 7.3 6.5 M5x0.8 M. D6.5URFME5X 0.8, #FL T4.2 12 145 — | 29 [198[ 28 [ 6 |5 -
20 7.5 = [M5x0.8 | Ffll:. D6.5MRZZFM5% 0.8, EFL 4.2 1414512 |34(24 |- |8 |6 10 20 7.5 - M5x%0.8 . D6.5MRZFM5 % 0.8, i@FL T4.2 141451 2 34 |24 - 8 |6 10
25 8 [— | M5x0.8| Ffl: @8.2MREZFM6X 1.0, BFL4.6 1515512 |40(28 |- |10(8 10 25 8 - M5x (0.8 . @82MRFM6x 1.0, BFlL 4.6 151551 2 40 |28 - 10 (8 10
32 9 |- |1/8 . D8.2MRFMEx 1.0, BFL24.6 16 |55 |6 44|34 |- |12]|10] 15 32 9 - 1/8 . O8.2MEFM6X 1.0, Bl T4.6 16 |55 6 44 134 - 12 |10 |15
40 10— |1/8 . S10MRFM8x 1.25, iBFL26.5 20 | 7.516.5]52 140 |- [16]14 |16 40 10 - 1/8 . S10MRZFM8x 1.25, BF26.5 20 | 75| 6.5( 52 [40 - 16 |14 |16

105-106 Compact cylinder



L& RIS Compact cylinder / SDA,SSA,STA

FARS# Technical data

L& RIS Compact cylinder / SDA,SSA,STA

HARSH Technical data

SDA SSA SDAD,SDADS ifii& ZE4F Through piston rod 3 12-16 @20-100
A+TTEX2
A+{TFEX2 C+iTHe B+7ft
ikt B+ Felikt
12 3 4 5 6 10 1 10 | M
\/y =
F+TF? ’+ _ E _ *{
= “ M ool
TRl - _ < <>( 7@7 (D v
 —
_*_ — — LL_i__i_ B
SDAD SDADS
4112 Bore(mm) @
A B € A B € F v L M
12 27 5 17 37 5 27 4 6 10.2 | 2.8
16 29.5 5.5 18.5 39.5 55 28.5 4 6 11 2.8
SUA 20 30.5 5.5 19.5 40.5 55 29.5 4 8 15 2.8
25 33 6 21 43 6 31 4 10 17 2.8
1 3 12 11 4 5 7 10 32 34.5 7 24.5 48.5 7 34.5 4 12 22 2.8
N W ‘\ /> 40 40 7 2 50 7 36 4 16 |28 |28
! \ 50 46 9 28 56 9 38 5 20 38 2.8
63 50 9 32 60 9 42 5 20 40 2.8
80 63 11 41 73 11 51 6 25 45 4
100 75 12 51 85 12 61 7 32 55 4

a——
|
|
| |

SDAJ,SDAJS 1T#2HiAZ! Adjustable stroke type ?12-16 @ 20— 100

% A+FTREX 2+ TR
CHiTh

A QAT AT ]
A+ATFE X 2+ AT AT R
C+iTH ) i Q+ullliTF 3
j=
FENO. | &% ltem FE NO. | &R ltem FENO. | &% Item = = | ()
= ; 2z - -H==F 1 - —q><
1 J5 2 Back cover 6 &4k Body 11 3% Spring 2 ?I: . _,24 | HZ | L @ @
2 CE4$n3K C clip 7 g F Bumper 12 i A8 Silencer @ @ I A (0 et
3 BI/52 0% @ Cover gasket 8 R s % £ Rod packing — —
4 & Piston 9 B Front cover
; SDAJ SDAJS
5 TEZE ORI Piston O-ring 10 iHZEHF Rod 4172 Bore(mm) @
A C A c Q J L v
12 40 17 50 27 13 4 102 | 6
16 42.5 185 52.5 28.5 13 4 11 6
20 47.5 19.5 57.5 29.5 16 5 15 8
25 55 21 65 31 19 6 17 10
32 61.5 24.5 71.5 34.5 21 6 22 12
40 65 26 75 36 21 8 28 16
50 73 28 83 38 21 11 38 20
63 77 32 87 42 21 11 40 20
80 94 41 104 51 24 13 45 25
100 105 51 115 61 24 13 55 32

107-108  Compact cylinder



# 3 One-touch fitting FORWARD

FS R Type codes

pC | [(©] [8]

=
]

&S Type
C
G-Thread & NPT-Thread

W

ube outer dia.

aper pipe thread

w0
o
o
<
[+]
=
o
E

No black

>

Grey

HERG LB G-Thread & NPT-Thread
BEERL G-Thread

Code GO1 G02 GO3 Go4 G06

Size G1/8 G1/4 G3/8 G1/2 G3/4

SEHIHEEIZL American standard taper pipe thread (NPT)

Code NO1 NO2 NO3 NO4 NO6
Size NPT1/8 NPT1/4 NPT3/8 NPT1/2 NPT3/4
A Metric size &) Inch size
Code 4 6 8 10 12 15 16 5/32 3/16 1/4 5/16 3/8 1/2
Size 4 6 8 10 12 15 16 5/32 3/16 1/4 5/16 3/8 1/2

B4 Taper pipe thread

N Metric size

Code M5 M6 M8 M10 M12 M12A M14A M16 M20

Size M5 X 0.8 M6 X 1 M8 X 1 MIO X 1 M12 X 1.25 MI2 X 1.5 M14 X 1.5 M16 X 1.5 M20 X 1.5

EEURLY Taper pipe thread

Code 01 0

L)

03 04 06

Size R1/8 R1/4 R3/8 R1/2 R3/4

EERAREH General technical data

TR Medium [E4RZS Compressed air

1% Fi & /158 @ Operating pressure 0~1.0 MPa

1 & Negative pressure -750mmHg

& 71 Pressure proof 1.5 MPa

1 F;E FESE Bl Operating temperature range 5~60C

& A& Tube material JE:# PU/Nylon and polyurethane

%3k One-touch fitting FORWARD
JT55#03E Ordering data
PC-G
Tube(Metric)-Thread(R) Tube(Inch)=Thread(NPT) Tube(Metric)—Thread(G)

PC 04-M5 [ PC 08—01 [ PC 12—03 | PC 5/32-NO1 | PC 5/16—N03 PC 04-G01 | PC 10-GO1

PC 04-M6 [ PC 08—02 [ PC 12—04 | PC 5/32-N02 | PC 5/16—N04 PC 04-G02 | PC 10-G02

PC 04-01 [ PC 08—03 [ PC 15—03 | PC 3/16-N01| PC 3/8—-N01 PC 06—GO1 | PC 10-GO3

PC 04-02 [ PC 08—04 [ PC 15—04 | PC 3/16-N02 | PC 3/8—-N02 PC 06—G02 | PC 10-G04

PC 06—M5 [ PC 10-01 [ PC 16—03 | PC 1/4—-NO1 | PC 3/8-N03 PC 06—GO3 | PC 12-G01

PC 06—M6 | PC 10-02 | PC 16-04 | PC 1/4-N02 | PC 3/8-N04 PC 06—G04 | PC 12-G02

PC 06—01 | PC 10-03 | PC 16-06 | PC 1/4-NO03 | PC 1/2—NO1 PC 08-G01 | PC 12-G03

PC 06—-02 | PC 10-04 PC 1/4-N04 | PC 1/2-N02 PC 08-G02 | PC 12-G04

PC 06—-03 | PC 12-01 PC 5/16-N01| PC 1/2-N03 PC 08-G03 | PC 16—G03

PC 06—-04 | PC 12-02 PC 5/16=N02 | PC 1/2-N04 PC 08-G04 | PC 16-G04
PCF-G

Tube(Metric)-Thread(R) Tube(Inch)—Thread(NPT) Tube(Metric)-Thread(G)

PCF 04-M5 [ PCF 08—01| PCF 12-03 |PCF 5/32—-NO1|PCF 5/16—NO03 PCF 04-GO01 | PCF 10-G01

PCF 04—Mo | PCF 08—02 | PCF 12—04 |PCF 5/32—N02 |PCF 5/16—N04 PCF 04-G02 | PCF 10-G02

PCF 04-01 | PCF 08-03 PCF 3/16—NO1|PCF 3/8—-NO1 PCF 06—GO1 | PCF 10-GO3

PCF 04-02 | PCF 08-04 PCF 3/16—N02|PCF 3/8—N02 PCF 06—G02 | PCF 10-G04

PCF 06—M5 | PCF 10-01 PCF 1/4-NO1 |PCF 3/8—-NO3 PCF 06—GO3 | PCF 12-G01

PCF 06—M6 | PCF 10-02 PCF 1/4-N02 |PCF 3/8—N04 PCF 06—G04 | PCF 12-G02

PCF 06—01 | PCF 10-03 PCF 1/4-NO3 |PCF 1/2—-NO1 PCF 08-G01 | PCF 12-G03

PCF 06—02 [ PCF 10-04 PCF 1/4-N04 |PCF 1/2—-N02 PCF 08-G02 | PCF 12-G04

PCF 06—03 | PCF 12-01 PCF 5/16—NO1|PCF 1/2—-NO03 PCF 08-G03

PCF 06—04 | PCF 12-02 PCF 5/16—NO02|PCF 1/2—-N04 PCF 08—-G04

PB-G

iT5%4& Ordering data

Tube(Metric)-Thread(R) Tube(Inch)=Thread(NPT) Tube(Metric)—Thread(G)
PB 04-M5 | PB 0604 [ PB 12-02 | PB 5/32—-NO1 | PB 5/16—N03 PB 04-GO1 | PB 08-G04 | PB 16—G04
PB 04-M6 | PB 08—01 | PB 12-03 | PB 5/32—-N02 | PB 5/16-N04 PB 04-G02 | PB 10-G01
PB 04-01 | PB 08—02 | PB 12-04 | PB 3/16-NO1| PB 3/8-NO1 PB 04-G03 | PB 10-G02
PB 04-02 | PB 08—03 [ PB 15-03 | PB 3/16-N02 | PB 3/8-N02 PB 06—-G01 | PB 10-G03
PB 04-03 | PB 08—04 | PB 15-04 | PB 1/4-NO1 | PB 3/8-N03 PB 06-G02 | PB 10-G04
PB 06-M5 | PB 10-01 [ PB 16-03 | PB 1/4-N02 | PB 3/8-N04 PB 06—-G03 | PB 12-G01
PB 06-M6 | PB 10—02 [ PB 16-04 | PB 1/4-N0O3 | PB 1/2-NO1 PB 06—-G04 | PB 12-G02
PB 06-01 | PB 10-03 PB 1/4-N04 | PB 1/2-N02 PB 08-GO1 | PB 12-G03
PB 06—-02 | PB 10-04 PB 5/16-NO1| PB 1/2-NO03 PB 08-G02 | PB 12-G04
PB 06-03 | PB 12-01 PB 5/16-N02 | PB 1/2—-N04 PB 08-G03 | PB 16—G03

Pneumatic component 109-110  Fittings



##%3k One-touch fitting #%3k One-touch fitting

TTE#3E Ordering data TTE%4% Ordering data

Tube(Metric)—Thread(R) Tube(Inch)—Thread(NPT) Tube(Metric)—Thread(G) Tube(Metric)-Thread(R) Tube(Inch)~Thread(NPT) Tube(Metric)-Thread(G)
PD 04-M5 | PD 06-04 | PD 12-02 | PD 5/32-NO1 | PD 5/16-N03 PD 04-G01 | PD 10-GO1 PX 04-M5 | PX 0602 | PX 10-03 | PX 5/32-NO1 | PX 5/16-N02 | PX 1/2-NO3 | PX 04—GO1 | PX 08-G02 | PX 12-G02
PD 04-M6 | PD 08-01 | PD 12-03 | PD 5/32-N02 | PD 5/16-N04 PD 04-G02 | PD 10-G02 PX 04-M6 | PX 06—03 | PX 10-04 | PX 5/32-N02 | PX 5/16-N03 | PX 1/2-N04 | PX 04—G02 | PX 08-GO3 | PX 12-G03
PD 04-01 | PD 08-02 | PD 12-04 | PD 3/16-NO1| PD 3/8-N01 PD 06-GO1 | PD 10-G03 PX 04-01 | PX 0801 | PX 12-01 | PX 3/16-NO1 | PX 5/16-N04 PX 04-G03 | PX 08-G04 | PX 12-G04
PD 04-02 | PD 08-03 | PD 15-03 | PD 3/16-N02 | PD 3/8-N02 PD 06-G02 | PD 10-G04 PX 04-02 | PX 0802 | PX 12-02 | PX 3/16-N02 | PX 3/8-N01 PX 06-GO1 | PX 10-GO1
PD 04-03 | PD 08-04 | PD 15-04 | PD 1/4-NO1 | PD 3/8-N03 PD 06-G03 | PD 12-G01 PX 04-03 | PX 0803 | PX 12-03 | PX 1/4-NO1 | PX 3/8-N02 PX 06-G02 | PX 10-G02
PD 06-M5 | PD 10-01 | PD 16-03 | PD 1/4-N02 | PD 3/8-NO04 PD 06-G04 | PD 12-G02 PX 06-M5 | PX 08-04 | PX 12-04 | PX 1/4-N02 | PX 3/8-N03 PX 06-GO3 | PX 10-G03
PD 06-M6 [ PD 10-02 [ PD 16-04 | PD 1/4-NO3 | PD 1/2-NO1 PD 08-G01 | PD 12-G03 PX 06—-M6 [ PX 10-01 PX 1/4-N03 | PX 3/8-N04 PX 06—G04 | PX 10-G04
PD 06-01 | PD 10-03 PD 1/4-N04 | PD 1/2-N02 PD 08—G02 | PD 12-G04 PX 06-01 | PX 10-02 PX 5/16-NO1 | PX 1/2-N02 PX 08-GO1 | PX 12-601
PD 06-02 | PD 10-04 PD 5/16-NO1 | PD 1/2-N03 PD 08-G03
PD 06-03 | PD 12-01 PD 5/16-N02 | PD 1/2-N04 PD 08—G04
Tube(Metric)-Thread(R) Tube(Inch)—Thread(NPT) Tube(Metric)-Thread(G)
PKD 04—M5 | PKD 06-02 [ PKD 08—04 | PKD 1/4-N1/8 |PKD 5/16-N3/8 PKD 04-G01 | PKD 08—GO1 | PKD 10-G03
Tube(Metric)-Thread(R) Tube(Inch)—Thread(NPT) Tube(Metric)-Thread(®) PKD 04-01 | PKD 06-03 | PKD 10-01 | PKD 1/4-N1/4 |PKD 5/16-N1/2 PKD 04-G02 | PKD 08-GO02 | PKD 10-G04
PLL 04-M5 | PLL 08-02 | PLL 12-04 |PLL 5/32-NO1 |PLL 5/16-N02 PLL 04-GOL | PLL 10-GO01 PKD 04-02 | PKD 06—04 | PKD 10-02 | PKD 1/4-N3/8 |PKD 3/8-N1/8 PKD 06-GO1 | PKD 08-G03
PLL 04-Mo | PLL 08-03 PLL 5/32-N02 |PLL 5/16-NO3 PLL 04-602 | PLL 10-602 PKD 04-03 [ PKD 08—01 | PKD 10-03 | PKD 1/4-N1/2 |PKD 3/8-N1/4 PKD 06-GO2 | PKD 08-G04
PLL 04-01 | PLL 08-04 PLL 5/32-N03 |PLL 3/8-NO1 PLL 06-GO1 | PLL 10-G03 PKD 06—M5 | PKD 08—02 [ PKD 10-04 | PKD 5/16-N1/8|PKD 3/8-N3/8 PKD 06-GO3 | PKD 10-GO1
PLL 04-02 | PLL 10-01 PLL 3/16-NOT|PLL 3/8-N02 PLL 06-GO2 | PLL 10-G04 PKD 06-01 [ PKD 08-03 PKD 5/16-N1/4|PKD 3/8-N1/2 PKD 06-GO4 | PKD 10-G02
PLL 06-M5 | PLL 10-02 PLL 3/16-N02 [PLL 3/8-NO3 PLL 06-GO3 | PLL 12-G01
PLL 06-M6 | PLL 10-03 PLL 3/16-NO3[PLL 3/8-N04 PLL 06-GO4 | PLL 12-G02
PLL 06-01 | PLL 10-04 PLL 1/4-NO1 [PLL 1/2-N0O2 PLL 08-GO1 | PLL 12-603
Tube(Metric) Tube(Inch)
PLL 06-02 [ PLL 12-01 PLL 1/4-N02 |PLL 1/2-N03 PLL 08-GO02 | PLL 12604
PE 04 PE 12 PE 08-06-08 PE 5/32 PE 3/8 PE 5/16-1/4-5/16
PLL 06-03 | PLL 12-02 PLL 1/4-N03 |PLL 1/2-N04 PLL 08-G03
PE 06 PE 15 PE 10-08-10 PE 3/16 PE 172 PE 3/8-5/16-3/8
PLL 08—01 [ PLL 12-03 PLL 5/16-N01 PLL 08-GO04
PE 08 PE 16 PE 12-10-12 PE 1/4 PE 3/16-5/32-3/16 PE 1/2-3/8-1/2
PE 10 | PE 06-04-06 PE 5/16 PE 1/4-3/16-1/4
Tube(Metric)—Thread(R) Tube(Metric)—Thread(G)
PLN 04-M5| PLN 06-M5 | PLN 06—04 | PLN 10-01 |PLN 12-02 [ PLN 04-GO1 [ PLN 06-GO3 [ PLN 08-G04 | PLN 12-GO1
Tube(Metric) Tube(Inch)
PLN 04-M6 | PLN 06-M6 | PLN 08—01 | PLN 10-02 |PLN 12-03 [ PLN 04-GO02 [ PLN 06-GO4 [ PLN 10-GO1| PLN 12-G02
PM 04 PM 12 PM 5/32 PM 3/8
PLN 0401 PLN 06—01 | PLN 08-02 | PLN 10-03 |PLN 12-04 [PLN 04-GO3 [ PLN 08-GO1 [ PLN 10-G02| PLN 12-G03
PM 06 PM 3/16 PM 1/2
PLN 04-02 | PLN 06-02 | PLN 08-03 | PLN 10-04 PLN 06-GO1 | PLN 08-G02 | PLN 10-G03 | PLN 12-G04
PM 08 PM 1/4
PLN 04-03 | PLN 06-03 | PLN 08-04 | PLN 12-01 PLN 06—GO02 | PLN 08—GO03 | PLN 10-G04
PM 10 PM 5/16
Tube(Metric)-Thread(R) Tube(Metric)—Thread(G)
Tube(Metric) Tube(Inch)
PLF 04-M5| PLF 06-M6 | PLF 08=02 | PLF 12—02 | PLF 5/32-N01 | PLF 1/4-N02 | PLF 5/16-N04 | PLF 1/2-NO1
g P7 04 PM 12 PZ 5/32
PLF 04-M6 | PLF 06-01 | PLF 0803 | PLF 12-03 | PLF 5/32-N02 | PLF 1/4-N03 | PLF 3/8-N01 | PLF 1/2-N02
; PZ 06 Pz 1/4
s PLF 04-01 | PLF 06-02 | PLF 10-02 | PLF 12-04 | PLF 3/16-NO1 | PLF 5/16-NO1 | PLF 3/8-N02 | PLF 1/2-N03
Pz 08 PZ 5/16
PLF 04-02 | PLF 06-03 | PLF 10-03 PLF 3/16—N02 | PLF 5/16—N02 PLF 3/8-N03 PLF 1/2-N04
Pz 10 PL 3/8
PLF 06-M5| PLF 0801 | PLF 10-04 PLF 1/4-NO1 | PLF 5/16-N03 | PLF 3/8-N04

111-112  Fittings



FORWARD FORWARD

# 3k One-touch fitting

TTER#HE Ordering data

#% 3 One-touch fitting / Couplers

JT55#03E Ordering data

PU PYJ
iT & %47 Ordering data

3T %47 Ordering data

Tube(Metric) Tube(Inch) Tube(Metric) Tube(Inch)
PU 04 PU 12 PU 8-6 PU 5/32 PU 3/8 PU 5/16-1/4 PYJ 04 PYJ 12 PYJ 12-10 PYJ 5/32 PYJ 3/8 PYJ 3/8-5/16
PU 06 PU 15 PU 10-8 PU 3/16 PU 1/2 PU 3/8-5/16 PYJ 06 PYJ 06—04 PYJ 3/16 PYJ 1/2 PYJ 1/2-3/8
PU 08 PU 16 PU 12-10 PU 1/4 PU 3/16-5/32 PU 1/2-3/8 PYJ 08 PYJ 08-06 PYJ 1/4 PYJ 1/4-5/32
PU 10 PU 6-4 PU 5/16 PU 1/4-3/16 PYJ 10 PYJ 10-08 PYJ 5/16 PYJ 5/16-1/4

PHF-G

Tube(Metric) 7 Tube(Metric) Tube(Inch)
PP 04 PP 12 2 PGJ 06-04 PGJ 10-08 PGJ 1/4-5/32 PGJ 3/8-5/16
PP 06 @\ PGJ 08-04 PGJ 12-06 PGJ 5/16-5/32 PGJ 1/2-1/4
PP 08 PGJ 08-06 PGJ 12-08 PGJ 5/16-1/4 PGJ 1/2-5/16
PP 10 PGJ 10-06 PGJ 12-10 PGJ 3/8-1/4 PGJ 1/2-3/8

3T 437 Ordering data

PLJ

T8 %47 Ordering data

Tube(Metric)~Thread(R) Tube(Inch)~Thread(NPT) Tube(Metric)~Thread(@) S EHnE) b3 nein)
PH 04-M5 | PH 06-03 | PH 10-03 | PH 5/32-NO1 | PH 5/16-NOL |PH 1/2-NO3| PH 04-GO1 | PH 08-GO1 |PH 10-GO3 Sl I PLI 5732 PLJ 38 PLISILE-1/4
PH 04—01 | PH 08-01 | PH 10-04 | PH 3/16-NO1 | PH 5/16-N02 |PH 1/2-N04| PH 04-G02 | PH 08-G02 | PH 10-G04 “ 4 PLIO6 | PLJ 0604 PL) 316 PLy 172 PL) 3/875/16
PH 04-02 | PH 08-02 | PH 12-02 | PH 3/16-N02 | PH 5/16-N03 PH 06-GOL | PH 08-GO3 | PH 12-G02 PLIO8 | PLJ 08706 PLo 14 PLJ /1675752 PL 1/2-38
PH 06-M5 | PH 08-03 | PH 12-03 | PH 3/16-N03 | PH 3/8-NO2 PH 06-G02 | PH 08-GO4 | PH 12-G03 PLJ 10 | PLJ 10708 PLI 516 PLo 17552
PH 06-01 | PH 08-04 | PH 12-04 | PH 1/4-NO1 | PH 3/8-NO3 PH 06-G03 | PH 10-GO1 | PH 12-G04
PH 06-02 | PH 10-02 PH 1/4-N02 | PH 3/8-No4 PH 06-G04 | PH 10-G02

T ¥ Ordering data

BA-01

BA-02

BA-03 BA-04

BA-02-01

BA-03-02

Tube(Metric)—Thread(R) Tube(Inch)—Thread(NPT) Tube(Metric)—Thread(G)
PHE 04-M5 | PHE 06-03 | PHF 10-03 | PHE 5/32-N01 | PHF 5/16-N01|PHF 3/8-N04 | PHE 04-GO1 | PHE 08-GOT | PHF 10-C03
PHE 04-01 | PHF 08-01 |PHF 10-04 | PHE 3/16-NO1 | PHF 5/16-N02 |PHF 1/2-N02 | PHF 04-G02 | PHF 08-G02 | PHE 10-G04
ﬂ‘ﬁﬂlﬁ Ordering data

PHE 04-02 | PHF 08-02 |PHF 12-02 | PHE 3/16-N02 | PHF 5/16-N03 |PHF 1/2-N03 | PHE 06-C01 | PHE 08-G03 | PHF 12-C02

PHE 06-M5 | PHF 08-03 [PHF 12-03 | PHF 1/4-NO1 | PHF 5/16-NO4|PHF 1/2-N04| PHF 06-G02 | PHE 08-GO4 | PHF 12-G03 BE-01-01 BE-01-02 B8-01-03 B8-02-02 B8-02-03 BE-02-04

BB-03-03 BB-03-04 BB-04-04
PHE 06-01 | PHF 08-04 |PHF 12-04 | PHE 1/4-N02 | PHF 3/8-N02 PHE 06-G03 | PHF 10-GO1 | PHE 12-G04
PHE 06-02 | PHF 10-02 PHE 1/4-N03 | PHF 3/8-103 PHF 06-G04 | PHF 10-G02

PHT-G(2)
Tube(Metric)-Thread(R) Tube(Metric)-Thread(G) BD-01-02 BD-01-03 BD-01-04 BD-02-03 BD-02-04 BD—03-04

PHT 04-01(2) PHT 08-02(2) PHT 12-02(2) PHT4~G01(2) PHT8-G01(2) | PHT10-G03(2)

PHT 04-02(2) PHT 08-03(2) PHT 12-03(2) PHT6-G01(2) PHTB-G02(2) | PHT10-G04(2)

PHT 06-01(2) PHT 08-04(2) PHT6-G02(2) PHTB-G03(2) | PHT12-G02(2)

PHT 06-02(2) PHT 10-02(2) PHT6-G03(2) PHTB-G04(2) | PHT12-G03(2)

PHT 06-03(2) PHT 10-03(2) PHT6-G04(2) PHT10-G01(2) STHHHRE Ordering data

PHT 08-01(2) PHT 10-04(2) PHT10-G02(2) BZ-1 B-2 B3 B4

Pneumatic component 113-114  Fittings



Ti% K Speed controllers , Fi&# Hand slide valves / HSV

11#5#04E Ordering data

NSC-G

FORWARD

3T 447 Ordering data

Tube(Metric)-Thread(R) Tube(Inch)=Thread(NPT) Tube(Metric)-Thread(G)
NSC 04-M5 | NSC 06—04 [NSC 1003 | NSC 5/32—NO1 | NSC 5/16-N02 [ NSC 1/2-N04 [ NSC 04-GO1 | NSC 08—G02 [ NSC 12-G02
NSC 04-01 [NSC 0801 | NSC 10-04 | NSC 3/16-NO1|NSC 5/16-N03 NSC 04-G02 | NSC 08—G03 [ NSC 12-G03
NSC 04-02 [NSC 0802 | NSC 12-02 | NSC 3/16—N02 [ NSC 5/16-N04 NSC 06—GO1 | NSC 08—G04 [ NSC 12-G04
NSC 06—M5 [NSC 0803 | NSC 12-03 | NSC 1/4-NO1 [NSC 3/8-N02 NSC 06-G02 [ NSC 10-G01
NSC 06—01 [NSC 0804 | NSC 12-04 | NSC 1/4-NO2 [NSC 3/8-N03 NSC 06—G03 [ NSC 10-G02
NSC 06—02 [NSC 10-01 NSC 1/4-NO3 [NSC 3/8-N04 NSC 06—G04 | NSC 10-G03
NSC 06—03 [NSC 10-02 NSC 5/16-N01[NSC 1/2-N03 NSC 08-GO1 [ NSC 10-G04

NSF

T & 44% Ordering data

Tube(Metric) Tube(Inch)
NSF 04 NSF 12 NSF 5/32 NSF 3/8
NSF 06 NSF 3/16 NSF 1/2
NSF 08 NSF 1/4
NSF 10 NSF 5/16
HSV
(HSV| - [1/4] - [ss

% Hand slide valve

% 1 4& Connection

1/8 1/8
1/4 1/4
3/8 3/8
12 1/2
3/4 3/4
1 1
&3 Dovt thread
#=AE! Standard
SS WINF A Double male thread
FF MA ZFE Double female thread
SF SNAZF B! Male and female thread

HE Else

JT55#03E Ordering data

BSLM

PSL

PSU

AG

TUBE CUT

FORWARD

T8 %4 Ordering data

BSLM—M5 BSLM—-01 BSLM—02 BSLM—03 BSLM-04 BSLM—-06 BSLM-10

iT#5%#% Ordering data
PSL-01 PSL-02 PSL-03 PSL—-04

T8 %18 Ordering data

PSU-M5 PSU-01 PSU-02 PSU-03 PSU-04

ﬂ% Type

AG

& 72 Color type
2 Black

BL % Blue

Y #EE Yellow

| TUBECUT |-| B

26 Black
BL % Blue
R 218 Red

Pneumatic component 115-116 Fitfings



RSB E L Standard boosting cylinder / HPN

TEREE Working principle

¥R SIS E 5L Standard boosting cylinder / HPN

THEBRIR Working principle

HPN RFVSOBIEERL, EALSENFN, FBAMERNEERERZ LG, BRESSERMSEMR,
BMUUEELL A1 AR, TERTAE, Wi, TWSAEELL.

HPN series of gas-liquid boosting cylinders are mainly used for stamping,rivets,bending,and stamping operations,which using I -—
pure pressure air as a driven force,using front and rear pistons sectional area ratio,to make the low pressure air into the high 7 |
oil pressure.The output ratio will be up to 25:1 ro so. .
Speed governor ord '

{E AR
FRJE Pre—pressurize

E Boost B & Restoration

N1 #5 Inlet
M1 TBE Displacement
N4 HS Outlet

N2 #= Inlet
M2 TB&tEE Displacement boost
N3 HS Outlet

N3 N4 #5 Inlet
M1 M2 EIEJREAE Restoration
N1 N2 #S Outlet

N1 N1 N1 '

o[ i

ji

TR
Speed governor

M2 M2 M2

O R \ W\ O~ B AN
| . Solenoid valve DET < Solenoid valve DET Y
| 15 _ "
[ N — e 0 AN IR A
o u o © 2 N s BRI N \
NTTED TN T J
R =B S

Air source Filter.Regulator.Lubricator Reservoir pump

ERES BUE A
Compressed Hydraulic oil

117-118  Standard boosting cylinder



S8 E 5L Boosting cylinder / HPN / HPNS

FISRAS Type codes

S Type

FORWARD

HPN FREBIS RIS RS Standard boosting cyinder
HPNS I B B SR 12 R %1 High—speed boosting cylinder
JBig 14 E /1 Theory boost output

|

#I1% Bore

B1T#2 Total stroke

¥4 E {72 Boost stroke
5 5mm

10 10 mm

15 15 mm

20 20 mm

K #& ¥ EH Boosting cylinder / HPN / HPNS FORWARD

HARSH Technical data

FERKASH General technical data

£I12 Bore (mm) @

HPN | HPNS

EshE S 4~7 K6/CMp BIREZ TRERES
Operation pressure
MERR WEh
Action form Double acting
FEEZ 1S0VGe8 1S0VG32
Fuel oil
mESEE 5~80° C ( A TIVEREZUES Other temperature should be customized )
Temperature range
BIERE 50—700mm/s
Piston speed
SHELRIEM 210 bar
Oil proof pressure
SEMRIET & 15 bar
Air cylinder proof pressure
TRIE +1.0MM
Stroke tolerance
0

TR

Working frequency

10X A E/MIN 10 times/min

HYerUIiC componenf 119-120 Standard boosting cylinder



FRfERI S % EEL Standard Boosting cylinder / HPN RiE B S % EH High-speed boosting cylinder / HPNS

FASEL Technical data HARSEL Technical data

{2 Tons A B C D 1 H E F G J K M Tfi {37 Tons A B C D 1 H £ F G J K M

17T 50 5 20 75 @50 @30 50 120 12 M26*1.5| PT1/4 | PT1/4 17T 50 5 20 75 @50 @30 50 120 12 M26*1.5| PT1/4 | PT3/8
3T 50 5 20 75 @55 @35 65 150 14 M30*1.5| PT3/8 PT3/8 3T 50 5 20 75 @55 @35 65 150 14 M30*1.5| PT3/8 PT3/8
5T 50 5 25 90 @55 @35 70 170 16 M30*1.5| PT3/8 PT3/8 5T 50 5 25 75 @55 @35 70 170 16 M30*1.5| PT3/8 PT3/8
10T 55 5 30 90 @65 @45 80 200 20 M40%2.0 | PT1/2 | PT3/8 10T 55 5 30 90 @65 @45 80 200 20 M40*2.0| PT1/2 | PT3/8
13T 55 5 30 90 @65 @45 80 200 20 M40%2.0 | PT1/2 | PT3/8 13T 55 5 30 90 @65 @45 80 200 20 M40*2.0 | PT1/2 | PT3/8
15T 55 5 30 90 @80 @60 120 250 25 M50%2.0 | PT1/2 | PT3/8 15T 55 5 30 90 @80 @60 120 250 25 M50*2.0 | PT1/2 | PT3/8
20T 55 5 30 90 @80 @60 120 250 25 M50%2.0 | PT1/2 | PT3/8 20T 55 5 30 90 @80 @60 120 250 25 M50*2.0 | PT1/2 | PT3/8
30T 55 5 35 90 @100 | @80 140 290 30 M63%2.0 | PT3/4 | PT1/2 30T 55 5 35 90 @100 @80 140 290 30 M63*2.0 | PT3/4 | PT3/8
40T 55 5 40 90 @100 | @80 160 320 35 M63*2.0 | PT3/4 | PT1/2 40T 55 5 40 90 @100 @80 160 320 35 M63*2.0 | PT3/4 | PT3/8

M 4G
| O a1 ] o §5
| Tt | IR | l p
T \!\ l T T I — (}
mm " 2-M
3 2 vy v vl [ © ©
- A ’ ‘ R
BT e = | I O AN Y = - SRS e
N
e S =1 = U R — s 7 @ O
i o o
LI | I
E A BlI.C A | Bllc] E
D D
T {EJ& /] Working pressure AKG/CM? 5KG/CM? 6KG/CM? 7KG/CM? TAEEST Working pressure 4KG/CM? 5KG/CM? 6KG/CM? 7KG/CM?
fiaKE ooyiva AR FIKG | [EIRR L JIKG | SEIE Y JIKG | EIFRRL JIKG | 2R H IKG | EIRR R JIKG| 5K H IKG | EIR2 R FIKG a1z v R IKG |2 IKG | $BIE t IKG | [BIFE AL JIKG | S8 i IKG | B2 47 JKG | #EE  OKG | SR TIKG
Bore Tons Booster output | Return thrust | Booster output| Return thrust | Booster output | Return thrust | Booster output| Return thrust Bore Tons Booster output | Return thrust | Booster output| Return thrust | Booster output | Return thrust | Booster output| Return thrust
@50 1T 1200 50 1500 62 1800 74 2100 86 @50 17T 1200 96 1500 120 1800 144 2100 168
263 3T 2000 80 2500 100 3000 120 3500 140 @63 3T 2000 160 2500 200 3000 240 3500 280
@80 5T 4000 160 5000 200 6000 240 7000 280 @80 5T 4000 160 5000 200 6000 240 7000 280
@100 10T 6240 240 7800 300 9360 360 10920 420 @100 10T 6240 240 7800 300 9360 360 10920 420
@100 13T 7840 240 9800 300 11760 360 13720 420 @100 13T 7840 240 9800 300 11760 360 13720 420
@125 15T 10240 376 12800 470 15360 564 17920 658 @125 15T 10240 376 12800 470 15360 564 17920 658
@125 20T 13920 376 17400 470 20880 564 24360 658 @125 20T 13920 376 17400 470 20880 564 24360 658
@160 30T 21200 600 26500 750 31800 900 37100 1050 @160 30T 21200 600 26500 750 31800 900 37100 1050
@180 40T 28180 816 35225 1020 42270 1224 49315 1428 @180 40T 28180 816 35225 1020 42270 1224 49315 1428

121-122 Standard boosting cylinder



TS WEER Booster pump / FHBA

A SRA0 Type codes

FHBAZIBER X AR SR EAH R
REMRENTEET . TARA—RERZS
HE DR E IR, BEERN.
EmK. REMS, EERE, #PHEss
Ro
FHBA booster pump use single air control
non-equilibrium gas distribution valve to
achieve reciprocating motion for
pump.Designed to solve the problem of low
pressure of compressed air.With the features
of small size,long life,high stability,no
electricity,easy maintain and etc.

[FHA | - [100] - [02]

FHBA I ZRHEZR Booster pump

TS WEER Booster pump / FHBA

FARS# Technical data

#I1% Bore (mm) @ FHBA-100-02 FHBA-100-04
&Lt Boost ratio 2.1 4.1

IR#AE #] Driven pressure 2—8 bar 2-8 bar
A% E 5 Max. output pressure 16 bar 32 bar
19477248 Displacement volume per stroke | 942 cc 295 cc

TAENB Medium

[E48755 Compressed air

#%## R~F Connection

G3/8

ZG3/8

40

q ZG3/8

65

123-124 Booster pump



TR IEER Booster pump / FHBD T K% E R Booster pump / FHBD

FSMRED Type codes HARS# Technical data

LEATEENERAEEN, FEERSRNEEN~ERE,

QLAFTERE, TRBAREMAERR, TeBhk&, S N ZHR Item 55 NO. EFR Item
MEELS, /ﬁEk%ﬁ%Eg*o 1 SYEFFE Switch 5 SIRIEER Booster pump
LEETE, HTHP, BEWA, P— i oe o
STBLELRE, TERH, HATRRLM, i R - e
6HNEHERES, FREESE, 3 S8 Filter ’ A Reservor pump

4 SJEF Pressure gauge 8 SEIEER High—pressure regulator

1.FHBD booster pump will stop automaticlly when it reaches the

predetermined pressure,no longer consuming excess energy and
roducing heat.

P 9 . B 3% E System diagram 1

2.No heat,sparks and frame,safety and explosion proof.

3.0utlet pressure is high,to meet most of the high-pressure

requirements.

4.Lightweight and reliable,easy to maintain,sturdy and durable.
5.Can be a continuous start-stop,unlimited,and no adverse

effects. [(:Iz =
6.Power source is compressed air,instead of electric power. @ 0 @
o O ‘

2O 0 o

FHBD| - [12] - [06] - [L1]-[A] | |

FHBD I T BEEZR Booster pump

[El13%[E System diagram 2

12 125
16 160 0

G ©
04 4:1 - ©
06 6:1 e
09 9:1
10 10:1 @—E ?
15 15:1 | :

16 16:1 ' @
25 25:1 @ I

(. L2 OO

60 60:1

B YR Single acting
L1 W3k EZR Double acting
L2 Wk ZHEZR Double acting,two stages

Ai

r

2| HY

itrogen

N
Hydrogen

o

Oxygen

—“lo|xT|z|>
oy

8 1 T 1 g

s

Sk Other gases

125-126 Booster pump



T K% E R Booster pump / FHBD12

FARS# Technical data

TS % E R Booster pump / FHBD16

FARS# Technical data

FHBD1 2R FIS R ER R A B SR F TGN R RRINRNEEE, RASER, THEED, FEERTFEMeESENRSZ
EREERNBESHE. ARFIWEEREEZEHN 125, RAEFSEL0bar, Hh TRIERNESG, B EASES8br, BERETHER
RAER, THBETRAR,

FHBD16ARFISAEER K A B SR EFESENERIRRLURNEE B, KASERS), THEEMHEs. EEERTEMSESENREE
EABBNSESENER, ARFIRFERERZHPL160, AWK SELObar, X THRIERMNE®, BIERSE<8bar, EEREHEES
RHEE, TRHCRHR,

FHBD12 series gas booster pump use single air control non-equilibrium gas distribution valve to achieve reciprocating motion for FHBD16 series gas booster pump use single air control non-equilibrium gas distribution valve to achieve reciprocating motion for
pump.Pneumatic drive can be stopped with the servo.Ideally suited for a variety of high-pressure gas tests or as a high-pressure gas pump.Pneumatic drive can be stopped with the servo.Ideally suited for a variety of high-pressure gas tests or as a high-pressure gas

source.The piston diameter is ®125 and the max. driven gas pressure is 10bar,to ensure pump’s life,suggestion pressure is less than source.The piston diameter is ®160 and the max. driven gas pressure is 10bar,to ensure pump’s life,suggestion pressure is less than

8bar.This pump comes with air-cooling device,no other cooling pump.

8bar.This pump comes with air-cooling device,no other cooling pump.

#1-5 Model FHBD1 204 FHBD1 206 FHBD1209 FHBD1215 FHBD1 225 FHBD1239 #1-5 Model FHBD1 606 FHBD1610 FHBD1616 FHBD1625 FHBD1 640 FHBD1660
#E & EE Boost ratio 4:1 6:1 9:1 15:1 25:1 39:1 [t Boost ratio 6:1 10:1 16:1 25:1 40:1 60:1
HOENTEAR 4Pa 6Pa 9Pa 15Pa 25Pa 39Pa HAENTEAR 6Pa 10Pa 16Pa 25Pa 40Pa 60Pa
Formula to calculate gas outlet pressure Formula to calculate gas outlet pressure

H/NSEANAES (bar) 0 1.7 3.4 7.5 12 20 Hs/NSEANAES (bar) 0 1.7 3.4 7.5 12 20

Min. gas inlet pressure Min. gas inlet pressure

BEASEEAES (bar) 32 48 72 120 200 312 BRSEEAES (bar) 48 80 128 200 320 480

Max. gas outlet pressure Max. gas outlet pressure

F75EHEE (co) 249 157 100 64 39 25 F77EHEE (co) 249 157 100 64 39 25
Displacement volume per stroke Displacement volume per stroke

* Pa: 3¥5f)[% /7 Driven pressure

* KM EREW L —RIBFERGTRAERELIERERN2ME, WL RERFRFIEN A TVHESEREEERGEENRENGE,
Double acting booster pump and double acting two stages one are twice compare with single acting one.Double acting two stages
booster pump mainly used in an occasion of low initial gas pressure and high outlet gas pressure.

482

* Pa: 385/ % /7 Driven pressure

* WM EREW K —RIBFERGTRHIERELIERERN2ME, L REERFIEN A TVHESEREEERGEENRENGE,
Double acting booster pump and double acting two stages one are twice compare with single acting one.Double acting two stages
booster pump mainly used in an occasion of low initial gas pressure and high outlet gas pressure.

230

484

o o o
=4 fite e Bl
I . - i
O g - — 3
4@i:7 2-G3/8
q p o @ o
[ 230 | ‘%F } 100 ‘
154 374 | 172
B NI e—— I —
HEE — © O] B3 © O]
uTl 1 | APLSSSEEET > O P ESS] fu © ¢ ©
i) | 1 | o) - ] 2 7 1 | 7 — — [ =nnl g
7/ [ . i i | I\ - O L 1\ - ' g .
L= = o C q D CHER 5]
230

127-128 Booster pump



il FEEI Hydraulic cylinder / MOB , HOB FORWARD ifiE &L Hydraulic cylinder / MOB , HOB FORWARD

FERAS Type codes BARS# Technical data

MOB EE# REH General technical data

14 Bore (mm) @ 30 | 40 50 | 63 | 80 100 | 125
BAITE 1200 2000 3000
Max.stroke

MEESN 70kgf/cm?

Rated pressure

& 140kgf/cm?

Proof pressure

w®IRKEHESN 3kgf/cm?

Min.start—up pressure

ERRESER —-10~+80° C ( AELREZ iR The surrounding temperature oil)
Temperature range

ERANER RS

Medium Hydraulic oil

HOB FE&K A S General technical data

MoB |-[80l- [100] - [FA _E_ KN|-[L1 £142 Bore (mm) @ 40 |50 | e | s |100 |125 | 150 | 160 | 180 | 200 | 250 |

BAITHE 1200 | 2000 3000
Max.stroke

EAIhEE Basic function HEES 140kgf/cm?
Rated pressure

MOB B2 RS EHL Light hydraulic cylinder
W E 5 210kgf/cm?

HOB I F A E L Heavy hydraulic cylinder Proof pressure

BEADEN gf/en?
Min.start—up pressure
FRRESEE —-10~+80° C ( AELREZEE The surrounding temperature oil)
Temperature range

1712 Stroke N
ERAN R BUE
Medium Hydraulic oil

FA B2 2 Front flange

FB JayE= % Rear flange

CA #HEA Single earring

CB ME A Double earring

TC HhiERENE

LB B RIZREY

Y YEIESL Y-type connector

T TEI$E L T-type connector
KRR No magnetic

KN Ff#& G With magnetic
#rAER Standard

L 172 TIE! Adjustable stroke

L1 W HE Double rods

Hydraulic component 129-130  Hydraulic cylinder



il FEEI Hydraulic cylinder / MOB il EEI Hydraulic cylinder / MOB

HARS# Technical data BARS# Technical data
MOB-L1 M ii&ZE#F Double rod
oD P+St
ODE KT 2-PT KT P4st
A Z) S B M
™ LA . L —
© _—~ © B - B i i A o
/\ N o =
N “J %
& L
o) @) L] h B
Y S L= - C=! =
4K
E F| G H S+St H Stst Fi+St
Zast ZD+2*St
%172 Bore(mm) @ A B C D DE E F G H K KT [P PT S Z %142 Bore(mm) @ p S F D
30 30 |16 M14*15 |52 34 28 10 |15 |25 |[M8 |20 |75 |PT1/4 |50 | 125 30 75 50 10 150
40 40 |20 M16*1.5 | 64 45 28 17 |20 |30 |[mM8 |20 |80 |PT3/8 |50 |147 40 80 50 17 184
50 45 | 20 M16*1.5 | 70 50 28 17 |20 |30 |[mMi0o |20 |80 |PT3/8 |50 |147 50 80 50 17 184
63 55 |25 M22*1.5 | 85 60 40 20 |30 |31 M0 |20 [81 |PT3/8 |50 |162 63 8l 50 2 212
80 62 |32 M26*1.5 | 106 | 74 40 20 |32 |37 |[mM12 |25 |92 |PT1/2 |55 |181 80 92 55 20 233
100 78 | 40 M30*1.5 | 122 | 89 45 20 |32 |37 |M14 |25 |110|PT1/2 |80 | 206 100 110 80 20 258
125 85 |50 M4Q*2 147 | 110 | 55 3% |30 |41 | M6 |30 |116|PT1/2 |80 | 228 125 116 80 36 294
12 13 14 15
7
o) o)
‘w/ &
S
) Hh
\&)
A\
@ )
Y Y 1 \
1 2 3 4 5 6
5 NO. ZFR Item FES NO. [ &FR Item F5 NO.| &FR Item
1 4hSLI208 Nut 6 Ja# Back cover 11 ToHE B MK Bushing
2 JEFEAT Piston rod 7 128 Tie—rod Nut 12 0BV LB 0-ring
3 HT% Front cover 8 H4F Tie—rod 13 0FY 23 0-ring
4 &I Barrel 9 BB Wiper seal 14 SEf B Wearing
5 J&3E Pilot body 10 4 A3 mE Rod seal 15 JHIETEE Piston seal

131-132 Hydraulic cylinder



;#i FE &I Hydraulic cylinder / MOB

FARZ# Technical data

MOB-L FJiEiEZEFF Adjustable stroke

LE+LSY WEH) Adjustable stroke

P+St
[ { i @
ngH N -
e -
L= =
S+St LF
ZL+2*St

#1#2 Bore(mm) @ p S L LF LE
30 75 50 150 10 35
40 80 50 182 15 35
50 80 50 182 15 45
63 81 50 212 20 45
80 92 55 233 20 55
100 110 80 258 20 55
125 116 80 283 25 60

j#i FE &I Hydraulic cylinder / HOB

HARSH Technical data

ap P45t
UDE KT 2pT KT
6.0 T b
oI Bl .
) » oS IS5
E F H S+5t N
Z+5t
HOB
#1712 Bore(mm) @
B € D DE E F G H N K KT [PT S p A
40 25 | M22*1.5 |65 45 40 20 17 33 28 M10 | 25 PT3/8 | 50 78 148
50 30 M26*1.5 |80 56 40 20 17 38 30 M12 | 25 PT3/8 | 55 86 160
63 35 | M30*1.5 |9 65 45 20 17 38 30 M14 | 30 |PT3/8 |55 86 160
80 40 | M30*1.5 | 110 |80 45 20 19 38 35 M16 | 35 PT1/2 | 74 107 186
100 50 M40*2 131 |95 55 25 19 41 37 M18 | 40 PT1/2| 84 122 206
125 60 M50%2 162 | 122 70 35 28 57 47 M22 | 50 PT3/4 | 84 129 251
150 80 | M70*2 195 | 144 | 80 |35 30 60 50 M27 | 60 PT3/4 | 90 138 265
160 80 | M70*2 210 | 153 | 80 35 30 60 50 M27 | 60 PT3/4 | 90 138 265
180 100 | M90*2 235 | 175 | 100 |35 40 65 55 M27 | 60 PT1 ™| 120 | 170 315
200 100 | M90*2 262 | 193 120 |40 40 65 60 M33 |70 PT1 ™| 120 | 172 325
250 125 | M110*2 [ 330 |246 | 140 |50 45 80 70 M39 |70 PT1 ™| 140 | 200 385
10 1 12 13 14 15 16
o0 . HIEs=sup
Y 9 i Y RRANN ﬁ
()\ / _11
/
rf\ﬁkj ) f—
N4 Y / /
1 2 3 4 J J 7 8
55 NO B Item 55 NO. R Item 55 NO. | &R Item
1 4 3L9208 Nut 7 JG3 Back cover 13 0FYBEf B 0-ring
2 JHZEAT Piston rod 8 126} Tie-rod Nut 14 0FYBEf B 0-ring
3 [EHR Press plate 9 AT Tie-rod 15 Saf B Wearing
4 BT Front cover 10 BB Wiper seal 16 TREZEE Piston seal
5 18 Barrel 11 4 FShE Rod seal
6 J&ZE Pilot body 12 AR Bushing

133-134 Hydraulic cylinder



il EEI Hydraulic cylinder / HOB il [EEI Hydraulic cylinder / HOB

RS Technical data HARZE Technical data
HOB-L1 X% ZE4F Double rod HOB-L FTiAEZEHF Adjustable stroke
pLast P1+St
N B BN I e vy veloy T
e B | I e | il
UL HH £
L= = = =
F+St S+5t LF St LE+LSt(z13%) | Adjustable stroke
+
ZD+2%St ZL+2*St

4% Bore(mm) @ P1 7D {I4% Bore(mm) @ P1 L LF LE
40 78 190 40 78 190 45 20
50 87 205 50 87 205 55 20
63 87 205 63 87 205 55 20
80 106 228 80 106 228 60 20
100 122 254 100 122 254 65 25
125 128 324 125 128 314 70 25
150 138 340 150 138 330 75 25
160 138 340 160 138 - - -
180 170 400 180 170 - - -
200 170 410 200 170 - - -
250 200 490 250 200 - - -

135-136  Hydraulic cylinder



;#i FE &I Hydraulic cylinder / MOB

4% Accessories

112 Bore(mm) @ §30 |40 [50 63 [80 |100 [125
FC 9 12 12 14 |14 16 18
FF 11 |11 |11 |14 |20 |20 |20
FX 80 (93 |93 117 | 152 | 158 |184
FY 34 150 |50 60 |75 |90 |110
FR 105 (115 | 115 | 140 | 180 |200 |[225
FZ 56 |72 |72 |90 [105 125 |153
#11Z Bore(mm) @ [ 30 40 50 63 80 100 125
cc 10 |12 |12 |20 |30 35 35
(o)) 10 |13 |13 |20 |30 35 35
CE 11 |11 (12 |15 |18 18 18
CF 20 25 (24 |31 |50 55 55
G 16 |22 |22 |30 |30 35 35
CH 40 (46 |46 |58 |62 71 75
112 Bore(mm) @ §30 (40 |50 |63 |80 (100 125
TC 16 |18 (20 |25 |28 |30 32
TR 62 74 180 |95 116 [132 160
I 25 25 |28 |32 35 38 40
Tz 94 [114 (130 |159 |180 |212 |260
&I Bore(mm) @ 30 |40 |50 |63 [80 |100 125
LA 28 |38 (38 [38 |36 48 51
LC 9 9 11 11 |13 16 18
LD 5 6 6 6 6 9 9
LY 18 |22.5 |21 |23 |23 335 |32
LX 34 (45 |50 |60 |74 89 110

O 0-~9 O
© o~ 0
EREWEHEES
g 8 Cy
ol lo] L ] [
L1 .
9
Y.
ot
=

j#i FE &I Hydraulic cylinder / HOB

i Accessories

FA\FB
4172 Boreerm @] 40 | 50 | 63 | 80 | 100 | 125 | 150 | 160 | 180 | 200 | 250 =
FC 12 (13 |14 (18 |20 |24 |28 |28 |35 |[35 |40 F = .
FF 17 117 |17 |19 [19 |28 |30 [30 |40 |40 |45 Gf@f 4@{}
FX 93 |110{126|152|180 |222 |260 |260 [315 |35 |410 /\ N
FY 50 |56 [68 |75 [100 |122 [155 [155 |188 |207 |250 @KJJ@
R 115[150{155(190 (220 |280 |310 [310 [375 [425 |510 @ S
Fz 75 |85 [100|120(140 |170 |206 |220 |250 |272 (340 =

CA\CB
41 Boretm @ 40 | 50 | 63 | 80 | 100 | 125 | 150 | 160 | 180 | 200 | 250
c 16 |20 |25 {30 |35 |50 |e0 |60 |80 |90 |100 e, o
) 16 |20 |25 {30 (35 |50 |60 |60 |80 |90 [100 ‘G}—O *_LG‘- -‘)’ _\ &
CE 15 |15 |18 |18 [25 |35 |35 |40 |40 |45 |45 -] N (ﬂ
CF 25 |35 [45 |50 [60 |70 [s0 |80 |100 |110 [120 ‘G}—G WTG:— _:3,’ L —
6 22 |22 |30 |35 [40 |55 |60 |60 |80 |90 [100 | o | x o
CH 46 |46 |58 |75 |80 [105 |120 |130 |160 |170 |190

TC
2 Boretnm) @] 40 | 50 | 63 | 80 | 100 | 125 | 150 | 160 | 180 | 200 | 250 - T
TC 20 |25 [32 |32 (40 |50 |60 |60 |80 |90 [100 i
R 75 |90 [102|120(140 |175 |206 |222 |243 |272 |360 :
T 28 |33 [40 |43 [53 |8 |73 |73 |98 |108 [120 i el
17 115[140{166(184]220 [275 |326 |[342 [403 [452 |560 i

LB
4172 Bore(rm) @] 40 | 50 | 63 | 80 [ 100 | 125 | 150 | 160 | 180 | 200
LA 375|142 |44 |63 |66 |80 [80 |90 oo |95
LC 11 14 |16 {18 |20 |24 |28 |32 |35 |35 _0\/5
LD 6 |8 [8 [13]15 |15 |20 |20 |20 |25 jg‘fiwf z
LY 23526 (29536 [455 |53 [53  [58.5 |62.5 |73.5 S R —
X 45 |56 |65 [80 [100 [122 [144 155 [175 [193

137-138 Hydraulic cylinder



	FORWARD Catalogue 2011
	Product Content
	Pneumatic Component
	Air Preparation
	OU Filter,Regulator,Lubricator
	OFR Filter regulator
	OR Regulator
	OF Filter
	OL Lubricator
	ORB Pressure regulator combinations
	Accessories

	Solenoid Valve
	3V1 Solenoid valve
	3V Solenoid valve
	4V Solenoid valve
	3A Air valve
	4A Air valve
	4M Plate type valve
	4H Hand-pull valve
	3L,4L Hand-draw valve
	4F210,FV Foot valve
	4HV Hand-switching valve
	FMV Mechanical valve
	GR One-way flow control valve

	Cylinder
	ODNC/ISO15552 Standard cylinder
	SU Standard cylinder
	DSNU/ISO6432 MINI cylinder stainless steel
	MAL MINI cylinder aluminum barrel
	SDA Compact cylinder

	One-touch fitting

	Hydraulic Component
	Boosting Cylinder
	Working principle
	HPN,HPNS Standard boosting cylinder

	Boosting Pump
	FHBA
	FHBD

	Hydraulic Cylinder
	MOB,HOB Type codes,Technical data
	MOB Technical date
	HOB Technical date
	MOB/HOB Accessories






